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Question Number : 1 Question Id : 59445943122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

CFI, | UXA, DGJ, MPS
Options :
1. # JKR
2. % LOR
3. % LOQ
4. % JLN

Question Number : 1 Question Id : 59445943122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad sier e o qw U I1d a:
CFI, , UXA, DGJ, MPS
Options :

1. # JKR



2. ¥ LOR
3. % LOQ
4. % JLN

Question Number : 2 Question Id : 59445943123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Jaggery
2. Jaguar

3. Jackal
4. Jackpot
5. Jangler

Options :

1. ¥ 34125
2. % 31245
3. % 32145
4. % 12345

Question Number : 2 Question Id : 59445943123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T TTQ Teal 1 I oA H HaYd Bx o hH H d AGHIRI A Bl 6|

1. Jaggery
2. Jaguar

3. Jackal
4. Jackpot
5. Jangler

Options :

1. ¥ 34125
2. % 31245
3. % 32145
4. % 12345

Question Number : 3 Question Id : 59445943124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is different from the rest.
Options :

1. ¥ Cabbage

2. # Guava

3. % Muskmelon

4. # Litchi

Question Number : 3 Question Id : 59445943124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e et & § & T FAfd 8% Q guH &1 8Taifes, T faded 30 diF &) ke el 81 39 faded o1 T99 &% S 3170 T 3@ 3 |
Options :

1. ¢ S

2. % 3H¥Eq

3. % W

4, % ol

Question Number : 4 Question Id : 59445943125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is different from the rest.
Options :

1. # Pen : Pencil

2. % Fork : Chopstick

3. # Scooty : Bike

4. % Bread : Butter

Question Number : 4 Question Id : 59445943125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T faeredl & ¥ 9 Uer Mfda did A 90 8| gTalih, T fadhed 3= oI &1 ave el ¢ | 39 fadbed o1 98- Hx ol 37 ¥ 3T g
Options :

1. % Hod - URYA

2. % Picl : AANRCH



3. % I@dl: 9%

4. S : ARG

Question Number : 5 Question Id : 59445943126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

India : Peacock :: Russia : ?
Options :

1. # Ostrich

2. ¥ Eagle

3. % Emu

4. % Pigeon

Question Number : 5 Question Id : 59445943126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &7 997 ¥ o AR U I I TSR J Faifdd § o TR ¥ gIR1 U Ugd Ue e 3

YR : AR :: 9 : 2
Options :

1. % g

2. ¥ TR

3. % TH

4% TR

Question Number : 6 Question Id : 59445943127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Biryani : Rice :: ?
Options :

1. # Wood : Furniture
2. # Milk : Cheese



3. % Paper : Tree
4. % Mango : Pickle

Question Number : 6 Question Id : 59445943127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS! BT T B ot Uy | 1 T ST ¥ 99 UHR 9 e 8
foart : gmed ;2

Options :
I.QW:W
2. % gy dIW
3.*’W:ﬁ3
4. % MM : AR

Question Number : 7 Question Id : 59445943128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, TELEGRAPH is coded as ELETGHPAR, then what is the code for NOMINAL?
Options :

1. ¥ MONILAN

2. ¥ MONLIAN

3. ¥ MONALIN

4. ¥ NOMALIN

Question Number : 7 Question Id : 59445943128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ff3d $1€ U &, TELEGRAPH 1 ELETGHPAR & =0 § Sifad faal a1 &, A NOMINAL & fore o1s a1 82
Options :

1. ¥ MONILAN

2. % MONLIAN

3. ¥ MONALIN

4. ¥ NOMALIN



Question Number : 8 Question Id : 59445943129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if washing machine is called air conditioner, air conditioner is called room heater, room heater is called mobile, mobile is called tube
light, and tube light is called geyser, then what is used to send a message?

Options :

1. # Heater

2. ¥ Tube light
3. ¥ Mobile

4. ¥ Geyser

Question Number : 8 Question Id : 59445943129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

s FAfYd wre wiw H, 3 Yars A & ardead $gl T ], AId G &l HHR B BleR S8l T |, HHR & alex B Aagd &gl 11 g, Magd &
Jd T3 B 1 B, 3R & A13¢ B! ST el T 7, O S Woi o forg frrest IuaiT faman Sirar 82

Options :

1. % gl

2. ¥ A AR

3. % AERd

4. % I

Question Number : 9 Question Id : 59445943130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A @ B means 'A is the mother of B';

'A $ B' means 'A is the husband of B';

'A # B' means 'A is the sister of B';

'A * B' means 'A is the son of B'.

Then which of the following indicates that M is the daughter of O?

Options :

.¥*M@G#H*O
2.8 M@G*H#0
3. 9M#G*HS$SO
4, * M#G@H*O



Question Number : 9 Question Id : 59445943130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe A @B BT 3§ 'A,B B AT &;
'AS$B HTHIT A, BHIUNT,

‘A#B BTHIZ A, B TR,
'A*B HTIHIRA, BRI TR

i FefRea d deH SMdarar g fo M, 0 BT T &2
Options :

I.*M@G#H*O

2. M@G*H#O

3. 9M#G*HSO

4. # M#EG@H*O

Question Number : 10 Question Id : 59445943131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seven friends Ashish, Babita, Chandan, Dixit, Elizabeth, Faisal and Gagan sit on the top of a plateau facing east.

1. Chandan is on the immediate right of Dixit.

2. Babita is at one of the extreme ends and Elizabeth is her neighbour.
3. Gagan is between Elizabeth and Faizal.

4. Dixit is sitting third from the south end.

Which of the following pairs of people sit at the extreme ends?
Options :

1. ¥ Ashish and Babita

2. % Ashish and Elizabeth

3. # Chandan and Babita

4. ¥ Faisal and Babita

Question Number : 10 Question Id : 59445943131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 i iy, e, Twaq, i, TiereTay, Had 3fiR T gd &1 3R 4§ &% Ud TSR & 2 IR §96d g |
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3. TR UfereTa Yy 3R holdd & s H g |
4. AT R BRI TR YA R TR

Prffad & ¥ 1 @ oS TRE SR R 98T 82
Options :

1. ¢ 3MRNY 3R gfear

2. % TN 3R Tfeemey

3. % g IR afar

4. % BOd 3R i

Question Number : 11 Question Id : 59445943132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement is true, analyse
the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in the statement.

Statement I: All tube lights are fans.
Statement II: All fans are bulbs.
Statement III: All bulbs are clocks.

Conclusion: I) All tube lights are clocks.
IT) Some clocks are fans.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows
4. ¥ Neither I nor II follows

Question Number : 11 Question Id : 59445943132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Uy ¥, FF By AU U ¢ o a1 €1 s 1 8iR 11 faU U § 1 g8 Ad g4 fob o & 9t ST} e 8, &l Fsh e o7 U a1y faweior & SR
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st 1) 9uft e e ufeai B
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Options :

1. % Had [ IR0 BT §

2. % Had I1 TR HRAT &

3. 1 3R 11 GHI S0 HRd §
4. % TR TE 1 SR IRAT &

Question Number : 12 Question Id : 59445943133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit.

Statement: Dixit's advice to Farhan-"Go to Kolkata via Jharkhand-the shortest route".
Assumptions:

I. Farhan wishes to go to Kolkata.
II. Dixit gives advice to everyone.

Options :

1. % Only I is implicit

2. % Only II is implicit

3. # Both I and II are implicit

4. # None is implicit

Question Number : 12 Question Id : 59445943133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Uy ¥, Y foar mar @ e 91e &) yrRumy 1 3R 11 ) 7S B 1 31U 99 AT | b i A yron AR 21
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Options :

. Faa1ffgds

2. % Fad i FRdg



3. % [ R neHIFART R
4. % 33 ARRATE 8

Question Number : 13 Question Id : 59445943134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number from the series:

48,96,24, |12
Options :

1. % 16

2. % 18

3.9 48

4. % 28

Question Number : 13 Question Id : 59445943134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
QT T T I AT 1 B
48,96,24, 12

Options :

1. #® 16

2. % 18

3.948

4, % 28

Question Number : 14 Question Id : 59445943135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

54:729::24:7
Options :
1. v 144
2. % 324



3. % 256
4. % 576

Question Number : 14 Question Id : 59445943135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fached &7 98- ¥ off AR U T I UHR J Fafdd g o TR ¥ g¥R1 U Ugd Ue e B

54:729 ::24:?
Options :
1.9 144
2. % 324
3. % 256
4. % 576

Question Number : 15 Question Id : 59445943136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the diagrams best shows the relationship:

Uncle, Grandfather, Male
Options :

2.¥



Q0O
O

3.%

4, %

Question Number : 15 Question Id : 59445943136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 3G Gy b o 33T STl 82

I, alal, Jou
Options :

1. %

2.¥



Question Number : 16 Question Id : 59445943137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the diagrams best shows the relationship:

Laptops, Mobiles, Electronics
Options :

¥

2. ¢



Question Number : 16 Question Id : 59445943137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 3RG Yoy b Ja 33T STl 82

AUy, AETEd, g o
Options :

¥

2.¥



Question Number : 17 Question Id : 59445943138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?




Question Number : 17 Question Id : 59445943138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraferad & @ 19 1 IR 31 Uy 3Mpi & R Al 82

N

7

X
Options :
1.%/‘&\\
2. % l
3.% £ |
4.@//&1_\\\

Question Number : 18 Question Id : 59445943139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures will continue the same series as established by the five question figures?

LI 0000} OO0 ST OO

. A B c D E
Options :

2.¥




Question Number : 18 Question Id : 59445943139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & It SR srefa ura uy Sefaal gRT RAfid Y & okt wah?

I 000 JOLIC JOEEE 7T

A B Cc D E
Options :

2.¥




Question Number : 19 Question Id : 59445943140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures cannot be formed on folding the given cube in the question?

Options :



& & & &

o
#

had
#

R
#

Question Number : 19 Question Id : 59445943140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & & -3 srefa vy § 3T T8 o9 &1 Jig W 78! o5 Il 62
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Question Number : 20 Question Id : 59445943141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the following figure.



4.9

Question Number : 20 Question Id : 59445943141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRaa sefa @ 5 afd I HL

Options :

1. %

2. %



4.
General Awareness
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Group Id : 594459958
Group Maximum Duration : 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5944591959
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445943142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hattari dance is one of the most famous folk dances in
Options :

1. # Tamil Nadu

2. % Karnataka

3. % Kerala

4. ® Maharashtra

Question Number : 21 Question Id : 59445943142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FERTd O URE ae T i A TE Bl
Options :

1. % e g

2. & Hlch

3. % B

4. % TIERTY

Question Number : 22 Question Id : 59445943143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following monuments was built by Maharaja Narinder Singh?
Options :

1. ¥ Sheesh Mahal in Punjab

2. % Golconda Fort in Andhra Pradesh

3. % Konark Temple in Odisha

4. % Lodhi Fort in Punjab

Question Number : 22 Question Id : 59445943143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrofafead & 3 &F 91 WRE TeRTe AR Rig §RT S=am T A1
Options :

1. ¢ QIR 7, Uold

2. % TMABIUST fora, 3y UG

3. % BHIvMe HieR, Sfifs=m

4. % el fovet uolrg

Question Number : 23 Question Id : 59445943144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect in context to announcements made in Budget 20217
Options :

1. # Custom Duty on copper scrap reduced from 5% to 2.5%.

2. % Custom Duty on solar lanterns increased from 5% to 10%.

3. % Custom Duty on solar invertors increased from 5% to 20%.

4. ® Custom Duty on raw silk increased from 10% to 15%.

Question Number : 23 Question Id : 59445943144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad § @ o 91 HyF soie 2021 § o1 778 D9t & deH J 1ad 82
Options :

1. % T T AT R HTH1-S[eb 5% A °geThs 2.5% fhar T g

2. ¢ TR AT R I 5% J TGTHR 10% fHar T gl

3. % IR AR W WY 5% T TGTHR 20% a1 T g |

4. % e YW R T b 10% J TGTHR 15% fHar man gl

Question Number : 24 Question Id : 59445943145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mobile Money Identifier is a digit code issued by banks to their customers.
Options :

1. ¥ seven

2. % eight



3. * nine
4, % ten

Question Number : 24 Question Id : 59445943145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiaTge 71 3TSS BRI bl GRT SUA T1geh! 1 SR} foban 1 FP DS T
Options :

1. ¢ Iid

2. % 35

3. %

4. % cd

Question Number : 25 Question Id : 59445943146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The regular bacteria or eubacteria belongs to which of the following kingdoms?
Options :

1. ¥ Monera

2. % Protista

3. % Fungi

4. % Plantae

Question Number : 25 Question Id : 59445943146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafire Sitaroy a1 sgaedifar el § @ fea oa 9 Tefia 32
Options :

1.« HIRT

2. % Yoflg

3. % Ba

4. % UG

Question Number : 26 Question Id : 59445943147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

law states that the rates of diffusion of gases are inversely proportional to the square root of their densities under similar conditions of temperature
and pressure.

Options :

1. # Charles'
2. % Graham's
3. # Pascal's
4. ¥ Stefan's

Question Number : 26 Question Id : 59445943147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 | Fgar § o A ok g1 &t v aRfRufadt & 79T 3 a0 &1 ox 3% U9 & Jgd & HehHArUT gl ¢ |

Options :
1. % I
2. ¥ UlgH
3. ¥ bl
4. % LA

Question Number : 27 Question Id : 59445943148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils contributes the largest share of agricultural wealth?
Options :

1. #® Laterite

2. % Red

3. # Black

4. % Alluvial

Question Number : 27 Question Id : 59445943148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & 9 I 9 ga1 HiY Juar & wod g3 7 & drer adi 8

Options :

1. % deXse



2. % Gq
3. % Bt
4. ¥ JAg

Question Number : 28 Question Id : 59445943149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cuttack is situated on the bank of which of the following rivers?
Options :

1. ¥ Mahanadi

2. % Ganga

3. # Kaveri

4. % Gomti

Question Number : 28 Question Id : 59445943149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HEffed § 3 59 9 & de R R &
Options :

1. ¢ HgHal

2. % T

3. % Prad

4. % T(EC

Question Number : 29 Question Id : 59445943150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following rulers adopted the title of Mahendraditya?
Options :

1. # Chandragupta — I

2. % Kumaragupta — I

3. # Samudragupta

4. % Skandagupta

Question Number : 29 Question Id : 59445943150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRaferad 7 Q food e 3 HewTiad &1 IuTfy YRt ot
Options :

1. % Il -1

2. PHARE - 1

3. % AT

4. # Ihld

Question Number : 30 Question Id : 59445943151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Battle of Talikota fought?
Options :

1. ® 1576

2. % 1611

3.9 1565

4. % 1582

Question Number : 30 Question Id : 59445943151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
dIfIPIc T g Hd dSl T UT?
Options :

1. % 1576

2. % 1611

3.9 1565

4. ¥ 1582

Question Number : 31 Question Id : 59445943152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the youngest Governor General of India?
Options :

1. ¥ Lord Dalhousie



2. # Lord Hastings
3. # Lord Canning
4. # Lord Wellesley

Question Number : 31 Question Id : 59445943152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafed & @ S URd &1 Taw gaT HeRTSTUTd 1?2
Options :

1. ¥ 1S Sagion

2. % i i

3. % QIS i

4. % QIS qerett

Question Number : 32 Question Id : 59445943153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won the Oscars 2021 for 'Animated Feature Film'?
Options :

1. ¥ Soul

2. % Onward

3. ® Over the Moon

4. # Wolfwalkers

Question Number : 32 Question Id : 59445943153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & O fbe Tfmds wieR fhet & fog oifehR 2021 Siidm
Options :

1.+ 9id

2. % 3fids

3. % ARG A

4. % qiepalny



Question Number : 33 Question Id : 59445943154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of authors and books is incorrect?
Options :

1. # A Thousand Splendid Suns - Khaled Hosseini

2. % The Ibis Trilogy - Amitav Ghosh

3. # The Diary of a Young Girl - Anne Frank

4. % My Favourite Nature Stories - Salman Rushdie

Question Number : 33 Question Id : 59445943154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad & 3 el ok ad! @ B Y Siet 7Terd 82
Options :

1. % TYRPHS WSS I - WIS gt

2. % T TSy fearst - iffyary 9y

3. % G SR 31t 31 AT - Ut T

4. ¢ U HAINCT TR RS- IaHH 32!

Question Number : 34 Question Id : 59445943155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in May 2021, the first private astronaut mission, known as the mission, will be launched from NASA’s Kennedy Space Center in Florida.
Options :

1. % AX-1

2. % BX-1

3. % CX-1

4. % DX-1

Question Number : 34 Question Id : 59445943155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A% 2021 T B T3 GIN0T SR, Uga ol @iean e, o= oM & 1 ST ST 8, FNReST AR & el WY Yer ¥ yafta faar
ST



Options :
1. ¥ AX-1
2. % BX-1
3. % CX-1
4, % DX-1

Question Number : 35 Question Id : 59445943156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states launched a dedicated COVID-19 '"Mukhyamantri Sewa Sanklap Helpline 1100' in May 2021?
Options :

1. # Andhra Pradesh

2. ¥ Himachal Pradesh

3. % QOdisha

4. % Maharashtra

Question Number : 35 Question Id : 59445943156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forg I A 18 2021 H DifdS-19 THUT TR Ta1 Gahed gedars 1100' = D12
Options :

1. % 3ffsf Ua=T

2. ¢ fRHEd Ue™

3. % 3fIfSam

4. % HERIY

Question Number : 36 Question Id : 59445943157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
has launched 'Sanjeevani' to connect COVID-19 patients with potential plasma donors in May 2021.

Options :

1. * Flipkart

2. % Amazon
3. % Snapdeal
4. % Myntra



Question Number : 36 Question Id : 59445943157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
7S 2021 H UG @A grarsit & 1y Hifds-19 AME B S & e Iofia- df< o1 g |
Options :
1. % foquarc
2. % THIAMA
3. ¢ |US
4. % fon

Question Number : 37 Question Id : 59445943158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of 'Joint Sitting of two houses of Parliament' in the Indian Constitution is borrowed from the constitution of
Options :

1. ®¥ Canada

2. # United States of America

3. ¥ Australia

4. ® France

Question Number : 37 Question Id : 59445943158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR faur § Te & 3l T &1 Ggad 9&d' 1 fa=wd & YT I IYR & TS 3
Options :

1. % PpATST

2. % TG oY SARBT

3. ¢ 3fReferan

4. % B

Question Number : 38 Question Id : 59445943159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following amendments of the Indian Constitution led to formation of Nagaland with special status under Article 371A?



Options :
1. ¥ 13th
2. % 20th
3. %# 32nd
4. % Tth

Question Number : 38 Question Id : 59445943159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT Gfaem & fFafafad & 3 i Tnes & SR 3w 371A & 98d A=Y gof & A1 ARG S &I T3 g2
Options :

1.+ 13d

2. % 29d

3. % 324

4. % 7d

Question Number : 39 Question Id : 59445943160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams continued to hold its top spot on the ICC Test Team Rankings, which were released by the ICC on May 13, 20217
Options :

1. ¥ India

2. # New Zealand

3. ¥ England

4. ¥ Australia

Question Number : 39 Question Id : 59445943160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & oM @ A4 1cc Txe T T & 2y RiM R & g8 7, O 100 §RT 13 %, 2021 &1 SIRY fo5am mar am
Options :

1. % HRd

2. % oS

3. % U8

4. % 3frecferan



Question Number : 40 Question Id : 59445943161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The All India Chess Federation has launched the Initiative to help the chess community affected by the pandemic in May 2021.

Options :

1. ¥ Lose Covid

2. % Checkmate Covid
3. # Gambit Covid

4. ¥ Check Covid

Question Number : 40 Question Id : 59445943161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffet & o e A 1S 2021 T HEMRY § YHIfad Taks Y/ Pt Aeg & g ERSRISEIR]
Options :

1. % 9 HIfdg

2. ¢ IHHC BIfdS

3. % Nfige Pifds

4. % 9P DIfde
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Group Id : 594459959
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Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
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Section Id : 5944591684

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591960
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445943162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the other number if the HCF of a pair of numbers is 1 and the LCM is 20, where one number is 4?
Options :

1.¥5

2.% 4

3.% 6

4. % 2

Question Number : 41 Question Id : 59445943162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e 1 § Afe; et Y Siist T HedH JHUAA® 1 § 3R TYH THIIaS 20 §, STe! Uk T 4 82
Options :

1.¥5

2.% 4

3.% 6

4. %2

Question Number : 42 Question Id : 59445943163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ratio of two whole numbers is 7 : 9 out of which one is 900. What is the LCM of the given two numbers?



Options :
1. % 100
2. % 6300
3. #® 700
4. % 900

Question Number : 42 Question Id : 59445943163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

< qUT SBT3 BT SgUT 7 : 9 & T 1 T 900 71 &1 TS < sl b1 g FHIIEdP T 67
Options :

1. % 100

2.9 6300

3. % 700

4. % 900

Question Number : 43 Question Id : 59445943164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of 12 students increases by 2 inches when 2 students leave this group. If the average height of these two students is one-third of the average
height of the original 12, the average height, in inches, of the remaining students is

Options :

1. % 17 inch
2. # 15 inch
3. % 13 inch
4. % 19 inch

Question Number : 43 Question Id : 59445943164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 faenfifa &t g TS 2 S Sedt & oe 2 el 59 Tig &1 Bl 3d €1 I 379 <1 Sl B 3id <faTs ga 12 1 3id 9eTs o1 U fagTs &, af /W
ST BT SN TS, ST, gl

Options :

1.¥ 17349

2. % 159



3. % 1389
4. % 1959

Question Number : 44 Question Id : 59445943165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student has an exemplary skill using which he constantly scores 79 in every exam. He does so in the first exam. In the same exam another student scores 60. If
in the next exam the second wants to get ahead of the first student in total across the two exams, at least how much more than the first student should the second
person score in the second exam?

Options :
1. % 20
2. % 21
3. % 100
4. % 18

Question Number : 44 Question Id : 59445943165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH B T SIHROMNT B g TGP ST J 98 TS URTel & TR 79 3 YT HRdl ¢ | I8 Ul Uier T THT Rl g | I Ui & U 3R B 60
3ieh U Rl ¢ | IS 3FTelt Uster o g1 BT &t tRienaft & $of feas uga 3 ¥ M e argar 8, dl gk aafad o) gurl Rie & Ugd 8 4
AaH fard SHf® i YT - AT e?

Options :

1.+ 20

2. % 2]

3. % 100

4.% 18

Question Number : 45 Question Id : 59445943166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person had enough money to buy 50 pens or 60 notebooks. If the price of pens increases such that the person can buy only 40 pens and he buys 20 pens, how
many notebooks can the person buy at the old price?

Options :
1. % 30
2. %25
3. % 35



4. % 40

Question Number : 45 Question Id : 59445943166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fad & U 60 HAH T 60 Alegd Wiie & forg yafe o= u71 afe Ham! &1 I 59 USHR dedl o (& dfdd Had 40 Fad Wi JHdl § 3R a8 20
HH WG &, a1 Afad /M Jed WR o Alcgd WiG gabdl 82

Options :

1.+ 30

2. % 25

3. %35

4. % 40

Question Number : 46 Question Id : 59445943167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of wheat to a trader is Rs. 100 per kg. If the trader wants to earn a 30% profit (on his sales price) by selling wheat at cost price, how much less (in gm)
should the trader supply for every kg he that he sells?

Options :

1. % 300 gm
2. % 400 gm
3. % 500 gm
4. % 250 gm

Question Number : 46 Question Id : 59445943167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh STURY 1 11 1 AT Wi kg 100 FUT | TTS STUR g 1 367 Hedl TR S=ebR 30% TTH (30 [T Hedl TR) SHfSiel A1 <=1edl &, ol SR} bl 370
SR 9 O aTd YD kg & AT fha-l &1 (gm ) SMYfd S a1fee?

Options :

1. % 300 gm

2. % 400 gm

3. % 500 gm

4. % 250 gm



Question Number : 47 Question Id : 59445943168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the cost of a product is Rs 500 and the seller marks the product at Rs 800 but gives a 10% discount on the same, what is the profit percent to the seller?
Options :

1. ¥ 44%

2. % 60%

3. % 34%

4. % 30%

Question Number : 47 Question Id : 59445943168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e forddt IaTe Bt AT 500 FUY § MR faghdT IaTe WR 800 Y 3ifhd el & Afdh1 I W 10% HI Fe a7, A gk o1 fire arer ary ufar=ra
8?

Options :

1. ¥ 449%

2. % 60%

3. % 34%

4. % 30%

Question Number : 48 Question Id : 59445943169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solution A has 20% water and Solution B has 60% water. Both are mixed in a certain proportion to get a solution which has 50% water. What is this ratio of
solution B to A in the final solution?

Options :
1. % 13
2.¥ 3:1
3. % 4:1
4. % 1:4

Question Number : 48 Question Id : 59445943169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI A T 20% T & 3R 9 B & 60% T 81 &1 o1 U (A srgara & ff foran srar 8 oifes U T 9idt ured g1 9o forad 50 a1t &1 sifad dia



T U1 B ¥ A 198 SJUTd 1 82
Options :
1. % 1:3
2.9 3:1
3. % 4:1
4. % 14

Question Number : 49 Question Id : 59445943170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 3 consecutive numbers are in the ratio 1:2:3, what is the sum of these numbers?
Options :

1. % 12

2. % 18

3.6

4. % 24

Question Number : 49 Question Id : 59445943170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3 AN MY 1:2:3 & SIATd H &, Al 37 =S BT I 1 82
Options :

1. % 12

2. % 18

3.6

4, % 24

Question Number : 50 Question Id : 59445943171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference in the amount of interest earned by a person who invests Rs 5000 for two years under two alternate schemes. In scheme 1, he earns 15%
interest on simple interest basis. In scheme 2 he earns 14% interest under compound interest.

Options :
1. % Rs 10
2. ¥ Rs2



3. % Rs 5
4. % Rs 8

Question Number : 50 Question Id : 59445943171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l dfes Aol & ded ot ay & forg safaa gRT Siffd saret ot R # fasamT faR 8 St 5000 FUT Fa=T a1 8 | AT | H, 98 TR SIS & YR
R 15% ATl A Ha1 & | TISTT 2 T 98 Thdfg STl & ded 14% STl SHffd dar g

Options :

1. % 103U¢

2. ¥ 230U

3. % 5%0U

4. % 33UT

Question Number : 51 Question Id : 59445943172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person invested Rs 10,000 in a bank deposit scheme for 1.5 years. The rate of interest is 20% per annum compounded semi annually. What is the amount of
money that this individual would get at the end of 1.5 years?

Options :

1. ¥ Rs 13310
2. #® Rs 14400
3. ¥ Rs 13210
4. % Rs 13000

Question Number : 51 Question Id : 59445943172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AfGT 7 1.5 I8 & foIU §p FTHT AT H 10,000 SUT BT T fBaT| TS Bt &R 20% Ufd a8 g ot 3f-a1ifep =0 I TAIfSa g1 1.5 99 & id H 9
afad o1 fapd=t Ty faretto

Options :

1. % 13310 %4
2. % 14400 >49T¢
3. % 13210%UT
4. % 13000 >49Q



Question Number : 52 Question Id : 59445943173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman and Akash start travelling from Delhi to Kolkata which is 1500 km away from each other. Aman travels at 50 kmph and Akash travels at 100 kmph. Akash
reaches Kolkata and then starts his journey back to Delhi and meets Aman on his way back. How far (in km) from Kolkata did they meet?

Options :

1. % 500 km

2. % 1000 km
3. % 750 km

4. % 900 km

Question Number : 52 Question Id : 59445943173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 SR BT T T PHIABIAT DI AT L= HRd & Sl Th gak o 1500 km G & | SF 50 kmph 1 7T & I Rl § 3R SATHIR 100 kmph B 7T
%mél&Wqﬁmommugqm%aﬁvﬁﬁﬁéaﬁqamwww%sﬁvamaﬁwmﬁﬁw%léﬁwﬁ%ﬁ’rg(kmﬁ)
R
Options :
1. % 500 km
2. % 1000 km
3. % 750 km
4. % 900 km

Question Number : 53 Question Id : 59445943174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a car covers 600 meters in 5 minutes, what is the speed of the car in m/sec?
Options :

1. # 120 m/sec

2. % 2 m/sec

3. % 40 m/sec

4. % 4 m/sec

Question Number : 53 Question Id : 59445943174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

e T HR 5 e & 600 Hex &) g d9 FHRal 8, A HR B m/sec T T 82
Options :

1. % 120 m/sec

2. % 2 m/sec

3. % 40 m/sec

4. ® 4 m/sec

Question Number : 54 Question Id : 59445943175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes are used to fill a tank. If one pipe can fill the tank at a speed of 1/5 of the tank in an hour and the other can fill the tank in 20 hours when working
alone, in what time (in hours) will the two pipes working together fill the tank?

Options :

1. ¥ 5 hours
2. % 4 hours
3. % 10 hours
4. ¥ 20 hours

Question Number : 54 Question Id : 59445943175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ChI I WRA & o & U1S Ul BT ITINT o1 a1 § | TG U UISY T U & THI b 1/5 BT A 9 Th DI WR Fhll & 3R GURT 3hal BT HRab 20 S
H Pl B 1R YHhdl g, A ST UISU et dopt ! fba wvg & (del 7 +R¥9 2

Options :

1. % 59¢

2.v 46

3.% 106c

4. % 206¢

Question Number : 55 Question Id : 59445943176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
If one worker can do a work in 100 days and 2 workers are added every day, in 5 days what part of the work would have been done?
Options :



1. % 10%
2. % 15%
3. % 20%
4. 9% 25%

Question Number : 55 Question Id : 59445943176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I U wTiddl U B oY 100 o B R IR GahelT § 3R &R o 2 wrferal SIS ord €, o s ot & & a1 foam i o &) am ghme
Options :

1. % 10%

2. % 15%

3. % 20%

4.9 25%

Question Number : 56 Question Id : 59445943177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameter of a cone is 42 cm. The height of the cone is 2 times the radius. What is the volume of the cone?
Options :

1. % 19404 cu cm

2. % 1848 cucm

3. % 3696 cu cm

4. ¥ 462 cucm

Question Number : 56 Question Id : 59445943177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP P BT AN 42 cm § | AP D1 Hdls AT BT 2 TAT 8 | AP BT I 1 82
Options :

1. % 19404 cucm

2. % 1848 cucm

3. % 3696 cu cm

4. % 462 cucm



Question Number : 57 Question Id : 59445943178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the absolute difference, in sq. cm, between the curved surface area of a cone and its total surface area if the radius is 7 cm and the height is 50 cm?
Options :

1. ¥ 154 sq. cm

2. % 7sq.cm

3. % 50sqg.cm

4. % 495sq.cm

Question Number : 57 Question Id : 59445943178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

WW%WW THT 3R ITP W‘{W &ﬁw%aﬁa, sq. cm,ﬁw WW%,U%%@T7cm%GhTWSO cm%?
Options :

1. ¥ 154 sq. cm

2. % 7sq.cm

3. % 50sqg.cm

4. % 49sq. cm

Question Number : 58 Question Id : 59445943179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the imports of each city. How many cities have seen an increase in imports in 2 consecutive years?

Year
g 2017 2018 2019
London 100 110 120
Tokyo 100 120 110
Mew York 70 50 80
Sydney 80 90 100
Singapore 120 120 110
Options :
1. % 1

2.2



3.% 4
4. %3

Question Number : 58 Question Id : 59445943179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofoiad amfeesT e wer & imard & gxifdt 81 fardw 26t 3 2 SamTa aut & omara & gfg St 39

T, L]
2017 2018 2019
e 100 110 120
e 100 120 110
TS 70 90 80
et 80 90 100
Rimme 120 120 110
Options :
1. % 1
2.9 )
3.% 4
4, %3

Question Number : 59 Question Id : 59445943180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the distribution of population in a city based on age group. Which age group has seen a continuous decrease in population over the 2
years?

=201 ®= 2019 = 2030
2500
2100 2200
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g 1500
5 1mm0 —l 1 2000
-E 1000 gy 00
5 o0 | o g 70
500 | I| .
o
21} 19-13 1i-80 e
Age greup




Options :
1. % 0-18
2. %1930
3. ¥ 31-60
4. % 60+

Question Number : 59 Question Id : 59445943180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad U1 oy T & YR IR Ue WX B S & [GoR01 &I G1TdT ¢ | 7 3y avf 7 2 auf & See § FRaR &4l 35 52
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Options :
1. % 0-18
2. % 1930
3. ¥ 31-60
4. % 60+

Question Number : 60 Question Id : 59445943181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many students have seen an increase of 10% in 2018 and 20% in 2019, in their marks?



= 2017 = 2018 = 2019

$00 -

7% -

m-

3 -

Z 300 -

%0 -

0_

Aman Armit Soham Daksh Vaibhav
Students

Options :
1.¥1
2. %2
3.%0
4. %3

Question Number : 60 Question Id : 59445943181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BTl A o oidl &, 2018 H 10% 3R 2019 F 20% &1 g 38 &2

m 2017 = 2018 = 2019

50 -

ST

e aftm  HEE 14 e
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Options :
1.1
2. %2
3.%0
4. %3
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Question Number : 61 Question Id : 59445943182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

Having descended the hill at a trot, he no longer/ saw neither our own or the enemy's fires but/ heard the shouting of the French more loudly and distinctly.
Options :

1. ¥ Having descended the hill at a trot, he no longer

2. ¥ saw neither our own or the enemy's fires but

3. % heard the shouting of the French more loudly and distinctly.



4. ¥ No Error

Question Number : 61 Question Id : 59445943182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

Having descended the hill at a trot, he no longer/ saw neither our own or the enemy's fires but/ heard the shouting of the French more loudly and distinctly.
Options :

1. # Having descended the hill at a trot, he no longer

2. ¥ saw neither our own or the enemy's fires but

3. # heard the shouting of the French more loudly and distinctly.

4. # No Error

Question Number : 62 Question Id : 59445943183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

I guessed vaguely from my mother's signs and from the/ hurrying to and fro in the house that something unusual were about to happen,/ so I went to the door and
waited on the steps.

Options :

1. # I guessed vaguely from my mother's signs and from the

2. ¥ hurrying to and fro in the house that something unusual were about to happen,
3. # 50 I went to the door and waited on the steps.

4. % No Error

Question Number : 62 Question Id : 59445943183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

I guessed vaguely from my mother's signs and from the/ hurrying to and fro in the house that something unusual were about to happen,/ so I went to the door and
waited on the steps.

Options :
1. # I guessed vaguely from my mother's signs and from the

2. ¥ hurrying to and fro in the house that something unusual were about to happen,



3. % 50 I went to the door and waited on the steps.
4. % No Error

Question Number : 63 Question Id : 59445943184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option no
correction required' if the sentence is correct as given.

(The downright dumping of the stocks on the Wall Street have bought) the entire stock market to its knees.
Options :

1. # The downright dumping of stocks on the Wall Street have brought

2. # The downright dumping of stocks at the Wall Street has brought

3. ¥ The downright dumping of stocks in Wall Street has brought

4. % No correction required

Question Number : 63 Question Id : 59445943184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(The downright dumping of the stocks on the Wall Street have bought) the entire stock market to its knees.
Options :

1. # The downright dumping of stocks on the Wall Street have brought

2. # The downright dumping of stocks at the Wall Street has brought

3. ¥ The downright dumping of stocks in Wall Street has brought

4. ® No correction required

Question Number : 64 Question Id : 59445943185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option no
correction required' if the sentence is correct as given.

The government of the world (I live in was not framed, like that of Great Britain,) in after-dinner conversations over the wine.
Options :



1. # Ilived in was not framed, like that of the Great Britain,
2. % T had been living in was not framed, like that of the Great Britain,
3. ¥ Ilive in was not framed, to be like that of the Great Britain,

4. % No correction required

Question Number : 64 Question Id : 59445943185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option no
correction required' if the sentence is correct as given.

The government of the world (I live in was not framed, like that of Great Britain,) in after-dinner conversations over the wine.
Options :

1. # Ilived in was not framed, like that of the Great Britain,

2. # T had been living in was not framed, like that of the Great Britain,

3. ® I live in was not framed, to be like that of the Great Britain,

4. % No correction required

Question Number : 65 Question Id : 59445943186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is really a biennial, but grows itself so freely as to become in the garden.
Options :

1. # centennial

2. % colonial

3. # ungenial

4. ¥ perennial

Question Number : 65 Question Id : 59445943186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is really a biennial, but grows itself so freely as to become in the garden.
Options :



1. ®# centennial
2. % colonial
3. # ungenial

4. ¥ perennial

Question Number : 66 Question Id : 59445943187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the overthrow of the Spanish they had already received a great defeat; with the Peace of Westphalia the Catholic advance was baffled.
Options :

1. #¥ Agenda

2. ® Cicada

3. # Aficionada

4. ¥ Armada

Question Number : 66 Question Id : 59445943187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the overthrow of the Spanish they had already received a great defeat; with the Peace of Westphalia the Catholic advance was baftled.
Options :

1. % Agenda

2. # Cicada

3. ¥ Aficionada

4. ¥ Armada

Question Number : 67 Question Id : 59445943188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts can be
rearranged to form a meaningful and grammatically correct sentence.

The first French edition



P. appeared in 1609, and
Q. the story was known

R. in England before 1625,
S. when a parody

was produced.
Options :

1. # PRSQ
2. % PQRS
3. % PSQR
4. % PSRQ

Question Number : 67 Question Id : 59445943188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts can be
rearranged to form a meaningful and grammatically correct sentence.

The first French edition

P. appeared in 1609, and
Q. the story was known

R. in England before 1625,
S. when a parody

was produced.
Options :

1. ¥ PRSQ
2. ¥ PQRS
3. % PSQR
4. ¥ PSRQ

Question Number : 68 Question Id : 59445943189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Intermittent
Options :

1. # Continuous
2. ¥ Recurring
3. % Swift

4. ¥ Steady

Question Number : 68 Question Id : 59445943189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Intermittent
Options :

1. * Continuous
2. ¥ Recurring
3. # Swift

4. ¥ Steady

Question Number : 69 Question Id : 59445943190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Asinine

Options :

1. # Intelligent
2. % Preposterous
3. # Sway

4. % Collide

Question Number : 69 Question Id : 59445943190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below

Asinine

Options :

1. * Intelligent
2. ¥ Preposterous
3. # Sway

4. % Collide

Question Number : 70 Question Id : 59445943191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Obviate

2. % Oblivate

3. # Obevate

4. # Obivate

Question Number : 70 Question Id : 59445943191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Obviate

2. ®# Oblivate

3. #® Obevate

4. # Obivate

Question Number : 71 Question Id : 59445943192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Perturbation

2. % Pertuberation



3. # Pertubation
4. ¥ Pertuebation

Question Number : 71 Question Id : 59445943192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¢ Perturbation

2. # Pertuberation

3. # Pertubation

4. ® Pertuebation

Question Number : 72 Question Id : 59445943193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A leopard can’t change his spots

Options :

1. % You cannot change who you are

2. % An unreliable person

3. % A very small part of something big or whole
4. # One who causes damage

Question Number : 72 Question Id : 59445943193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A leopard can’t change his spots

Options :

1. % You cannot change who you are

2. # An unreliable person

3. # A very small part of something big or whole

4. ® One who causes damage



Question Number : 73 Question Id : 59445943194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Above board

Options :

1. ¥ A very mild punishment

2. # Very inexpensive, a bargain
3. # Ready to, just going to

4. ¥ Fair and honest

Question Number : 73 Question Id : 59445943194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Above board

Options :

1. ¥ A very mild punishment

2. # Very inexpensive, a bargain
3. # Ready to, just going to

4. % Fair and honest

Question Number : 74 Question Id : 59445943195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Eager to own and collect things
Options :

1. #* Shod

2. % Tractable

3. % Acquisitive

4. % Retrospective



Question Number : 74 Question Id : 59445943195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Eager to own and collect things
Options :

1. #* Shod

2. # Tractable

3. % Acquisitive

4. ¥ Retrospective

Question Number : 75 Question Id : 59445943196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Embarrassing social mistake
Options :

1. ¥ Faux pas

2. ® Spam

3. # Disband

4. % Roister

Question Number : 75 Question Id : 59445943196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Embarrassing social mistake

Options :

1. ¥ Faux pas

2. % Spam

3. # Disband

4. % Roister

Sub-Section Number : 2
Sub-Section Id : 5944591962



Question Shuffling Allowed : Yes

Question Id : 59445943197 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives

The Maginot Line was one of the largest military structures ever built, second only to the Great Wall of China. It was a series of bunkers, forts, turrets, and
obstacles that spanned more than 450 miles of France's border with Germany. Built between 1930 and 1940, it was one of the world's most impressive forts, yet it
proved to be almost useless.

The Maginot Line was named after the man who argued for its construction, French Minister of War André Maginot. André Maginot had fought with the French
against the Germans in the First World War. Much of this conflict took place along the Western Front, which was a line of trenches across which the two sides
faced one another. Both sides dug in deep and each lost many men over little ground. Conditions were horrid for all and there was a stalemate for many years as
neither side was able to move the other.

Maginot never forgot these awful conditions. He wanted to build a line of defences that would give the French an advantage in a similar conflict. He feared,
rightfully so, that the Germans would attack France again. Germany's population nearly doubled France's. The line of defences that Maginot pictured would allow
a smaller French army to hold off a larger German force. In 1929, Maginot convinced the French Parliament to fund his vision.

Though calling it a line makes it seem thin, the Maginot Line was in fact quite deep. It was fifteen miles wide at some points and varied in structure. There were
outposts disguised as houses. These were manned by troops and rigged with explosives. There were antitank rails and obstacles. These were planted in the ground
to prevent tanks and trucks from passing. There were bunkers armed with mounted machine guns and anti-tank guns. These were for pushing back attackers. And
there were many large and small fortresses along the line. Each had mess halls, lots of supplies, and air conditioning. The Maginot line would give the French a
supreme edge in the case of a head-on invasion by the Germans.

Sub questions

Question Number : 76 Question Id : 59445943198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which is considered to be the largest military structures ever built?
Options :

1. % Fort Hood

2. ® Maginot Line

3. ¥ The Great Wall of China

4. % Fort Bragg

Question Number : 77 Question Id : 59445943199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why did Maginot argue to build the Maginot Wall?



Options :

1. ® Because of the horrid conditions in the First World War

2. ¥ Because he feared that Germans would attack France again and he wanted to have line of defences that would favour France in similar battle conditions
3. # Because Germany had an advantage and he wanted to build a line of defence

4. # Because it would save more lives on the battle field, if Germans ever were to attack France again

Question Number : 78 Question Id : 59445943200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did André Maginot serve as in the French Army?
Options :

1. ¥ French Minister of War

2. # War Veteran

3. # French Rebel Leader

4. # German Spy

Question Number : 79 Question Id : 59445943201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # The Maginot line was the second largest military structures to be ever built.

2. ® Maginot had to convince the French Parliament to fund the Maginot Line.

3. #® The reason Maginot wanted to build the Maginot line was because he feared that Germans would attack France again, and he wanted to have an advantage.
4. % In the First World War Germany defeated France which triggered the need for a stronger military structure.

Question Number : 80 Question Id : 59445943202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did it take to build the Maginot line?
Options :

1. ¥ Around 13 years

2. % Around 12 years

3. # Around 15 years

4. ¥ Around 10 years



Question Id : 59445943197 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives

The Maginot Line was one of the largest military structures ever built, second only to the Great Wall of China. It was a series of bunkers, forts, turrets, and
obstacles that spanned more than 450 miles of France's border with Germany. Built between 1930 and 1940, it was one of the world's most impressive forts, yet it
proved to be almost useless.

The Maginot Line was named after the man who argued for its construction, French Minister of War André Maginot. André Maginot had fought with the French
against the Germans in the First World War. Much of this conflict took place along the Western Front, which was a line of trenches across which the two sides
faced one another. Both sides dug in deep and each lost many men over little ground. Conditions were horrid for all and there was a stalemate for many years as
neither side was able to move the other.

Maginot never forgot these awful conditions. He wanted to build a line of defences that would give the French an advantage in a similar conflict. He feared,
rightfully so, that the Germans would attack France again. Germany's population nearly doubled France's. The line of defences that Maginot pictured would allow
a smaller French army to hold off a larger German force. In 1929, Maginot convinced the French Parliament to fund his vision.

Though calling it a line makes it seem thin, the Maginot Line was in fact quite deep. It was fifteen miles wide at some points and varied in structure. There were
outposts disguised as houses. These were manned by troops and rigged with explosives. There were antitank rails and obstacles. These were planted in the ground
to prevent tanks and trucks from passing. There were bunkers armed with mounted machine guns and anti-tank guns. These were for pushing back attackers. And
there were many large and small fortresses along the line. Each had mess halls, lots of supplies, and air conditioning. The Maginot line would give the French a
supreme edge in the case of a head-on invasion by the Germans.

Sub questions

Question Number : 76 Question Id : 59445943198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which is considered to be the largest military structures ever built?
Options :

1. * Fort Hood

2. # Maginot Line

3. % The Great Wall of China

4. % Fort Bragg

Question Number : 77 Question Id : 59445943199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Maginot argue to build the Maginot Wall?

Options :

1. # Because of the horrid conditions in the First World War



2. % Because he feared that Germans would attack France again and he wanted to have line of defences that would favour France in similar battle conditions
3. # Because Germany had an advantage and he wanted to build a line of defence

4. # Because it would save more lives on the battle field, if Germans ever were to attack France again

Question Number : 78 Question Id : 59445943200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did André Maginot serve as in the French Army?
Options :

1. ¥ French Minister of War

2. % War Veteran

3. # French Rebel Leader

4. # German Spy

Question Number : 79 Question Id : 59445943201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. % The Maginot line was the second largest military structures to be ever built.

2. # Maginot had to convince the French Parliament to fund the Maginot Line.

3. ® The reason Maginot wanted to build the Maginot line was because he feared that Germans would attack France again, and he wanted to have an advantage.
4. % In the First World War Germany defeated France which triggered the need for a stronger military structure.

Question Number : 80 Question Id : 59445943202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did it take to build the Maginot line?
Options :

1. #¥ Around 13 years

2. % Around 12 years

3. % Around 15 years

4. % Around 10 years
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Question Number : 81 Question Id : 59445943203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fachey &1 9a &3 o fau 17U IfY - fowde Weg & el IfY &1 fabeu g

g+ e
Options :
1. % Iy
2. % {gdiv
3.9 WY
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Question Number : 81 Question Id : 59445943203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fachey &1 9g &3 ot fau 17T TfY - fowde wreg & g} IfY &1 faspeu g

g+ e
Options :
1. % Iy
2. % {cly
3.9 W
4. % g4

Question Number : 82 Question Id : 59445943204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasmedl o O 3 fadeu &1 9g7 & St fou 17U IfY weg & Tl IfY -fade &1 fawea g
dgteT

Options :

1. ¢ T + Tl
2. % q¢ + Tl
3. % q+ Pl
4. % qc + fe@t

Question Number : 82 Question Id : 59445943204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 3T fadey o1 7o B3 o fou U I Wreg & T8t TfY -fawde &1 faweu 3|
GEE

Options :

1. ¢ qq + TIdbT
2. % T + Tl
3. % q+ Tl
4. % qe +fepr




Question Number : 83 Question Id : 59445943205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faweal & § 34 fadwed o1 T B S Uy Xeg &1 el fadheu g |
Options :

1. % 349

2. % 3JHM

3.9 YHI

4. % TN

Question Number : 83 Question Id : 59445943205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & q U fadwed o1 T B S TIY Ve, 1 el fadheu 3 |
Options :

1. % 344

2. % 3{JHH

3.9 YA

4. % TN

Question Number : 84 Question Id : 59445943206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 faded o1 T &3 5 faU 7Y Wre & HHYRT JAY &1 I8! faUg g

DAl

Options :

1. ® ®H U1 qdl

2. ¢ I & JHH Al
3. % P g ol adl

4. % D U Al

Question Number : 84 Question Id : 59445943206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 foredl & @ 39 fachey &1 90 3 oY f3T 71T Weg & HHYRY THNY HT T8 U8 3

DA

Options :

1. % PP Ul ddl

2. ¢ HAPH & JHM Adl
3. % PP g ol

4. % D U qdl

Question Number : 85 Question Id : 59445943207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 3T fadwed o1 T B S IUH e 1 8! fabed 1 |
Options :

1. % Raefrd

2. % qydl

3. % 49

4. ¢ SigSHR

Question Number : 85 Question Id : 59445943207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawedl §f T 34 faded &1 997 B S SUIT Weg &7 Wet fadweu 7 |
Options :

1. % Rgefrdm

2. % JWdr

3. % ¢dd

4. ¥ SigSPR

Question Number : 86 Question Id : 59445943208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
o et & I 39 fadhed &1 907 X St SIS Weg 1 e e 1T 3

Options :



1. % Rgsd!
2. % QTS

3.« e
4. % Uc

Question Number : 86 Question Id : 59445943208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g el & @ 39 fadhed &1 9a B3 ol X Weg, o1 e faebed 1T B
Options :

1. % Rag®!

2. % TS

3. T

4. % Uc

Question Number : 87 Question Id : 59445943209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

77 fadeal o 9 39 fadhey &1 9g9 o 1 fou U Wes - g1 o1 gt 31 arett fadey |
Y- Uty

Options :

1. ¥ g%, M3

2. % WP, SIA

3. % Y[, P
4. % 3yf<yH, T

Question Number : 87 Question Id : 59445943209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ol 7 9 39 fawey 1 997 B S AU 7T Xreg - T &1 91 o aratl fashed g
Ty Uiy

Options :
1. ¢ G, T3



2. % YD, 915

3. % YS[, &b
4. % 3yf<yH, i

Question Number : 88 Question Id : 59445943210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 faweal & § 39 faded o1 T B ot fu 7Y fiyemdes weg o1 98! faeu g
Fail- Pid

Options :

1. % dPhol, INF
2. % qUOTAT, 9!
3. % g, T

4. ¥ QUIEH, T

Question Number : 88 Question Id : 59445943210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 34 fad ey o1 7o B3 ot fw e fiyandes wreg o1 98} faed g
Pl Pia

Options :

1. % ddbol, IWE
2. % QUITAT, Tl
3. % g, T

4. ¥ qUIAH, X1

Question Number : 89 Question Id : 59445943211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ool o O 39 fadwed &1 a9 o St fou U are & fore gir & We &1 9el faweu g
g SRR g df Uit bt it 1 gt |

Options :



1. % gryraed
2. Thard
3. % Tegrd
4. % ferd

Question Number : 89 Question Id : 59445943211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § O 3 fadwed &1 997 & S fau 78 a1 & fore gy & We &1 98! faded g
e SR gicil ot UTit bt Bt = gt |

Options :

1. % g
2. ¢ Tobard
3. % Hegrd

4. % faeoef

Question Number : 90 Question Id : 59445943212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashey &1 98 &3 oY T 77U a1e & T &1 & Ue &1 98! fdded g
T\ A 9 faar g |

Options :

1. ® G IdHH BT
2. % 3l Yddrd

3. i Ydord

4. % YT IqHH HId

Question Number : 90 Question Id : 59445943212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl o O 34 fawen &1 997 &3 St fau 18 a1 & forw &1a & e &1 el fawed g
T = U forar g |



Options :

1. % QI gaqH H1d
2. % 3quf Ygera

3. ¢ g YdbTd

4. % YT IqHH HId

Question Number : 91 Question Id : 59445943213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 34 fadwed o1 T B3 5t fT 7N 919 & forw uer & A &1 et fawey g
Tfiar fpaT srsT M | |

Options :

1. ¢ AaTedd
2. % FHIdRiae
3. % IRIITH
4. % YAfAEIY®

Question Number : 91 Question Id : 59445943213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl § O 34 faweu &1 997 &3 St fou 78 arey & forw uel & g &1 98! fawed g
Tfir fpaT SrsT M | |

Options :

1. ¢ AAEdds®
2. % AgaEds
3, % JRWMdH
4. % TfdEIYS

Question Number : 92 Question Id : 59445943214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fawedl & 9 39 fadhed o1 9= &< ol faU 70 gerar &1 He o arett faded 3



fig =gt
Options :

1. % IHR Y]

2. % (REN B
3. % UM
4.« G TR

Question Number : 92 Question Id : 59445943214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fametl o 9 39 fadmed &1 9g o S faT T4 GeTar &1 9et 3 ara faswed g
fire &8t

Options :

1. % §HR ag]

2. % IR BT
3. % furn

4.« gUTOR

Question Number : 93 Question Id : 59445943215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal o 9 39 fadmey &1 9g9 & S foT T4 GeTar &1 Uet o aran fased g
& ¥ IR S &1 10 |

Options :

1. % A GHI

2. ¢ Y DI Sleal- Slea g Bl Hal
3. % B BT o1 -

4. % DI HTH BT

Question Number : 93 Question Id : 59445943215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fawedl & 9 39 fadhed o1 9= &< ol faU 71 gerar &1 He o arett faded 3



3 Y IR §F FT 70 |

Options :

1. % TpAGHI

2. ¢ Y DI Sleg- Slea] g Bl Hal
3. % P &l formmr o

4. % DS HTH BT

Question Number : 94 Question Id : 59445943216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl o O 34 fadeu &1 9g+ &3 St fou U dispifaa &1 aat orf are faswed g

37T BTY SATATY

Options :

1. v URem & 3rd Tfed gt 8
2. % TH HH Y e aH

3. % R =g @A

4, % 3[04 I H I

Question Number : 94 Question Id : 59445943216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawedl § T 34 fadeu &1 99 &3 51t fou U diepifaa &1 gat oref are fdswed g

37T BT SATATY

Options :

1.« URym F 3d TfT g1 @
2. % UPh HMH Y e a1y

3. % R 9§ @A

4. % 3[04 g H g

Question Number : 95 Question Id : 59445943217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 faweul o @ 3 faded o1 o0 &L 1 U TN Aeifad &1 Tet o arar fawed g
SR 3T AT 9y

Options :

1. % ORTT & ST H I BT 3HYD T
2. ¢ W81 X8 a8 & Afa-Rami & SuR @
3. % JUKd B

4. % AR B 3T &E FAT

Question Number : 95 Question Id : 59445943217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & O 3 fadey &1 9g &3 ot fT 77U dipifad &1 Tt 3 arar fased g
SRR

Options :

1. % OREg & T H I HT THYH T
2. ¢ SBI B! a8l & fa-Rarell & AR I8!

3. % 3Uad HRAT

4. % ORI B YT &¢ I

Sub-Section Number : 2
Sub-Section Id : 5944591964
Question Shuffling Allowed : Yes

Question Id : 59445943218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

) fu U T S erFgde ue SR U Y Uit T qataH STR |

PRIFTATERY g Ueh THT YohHUI & FORH ikt ] - febr SfiR Wi o) Sieft Tt &) ehel] &1 3fe bl ofckd bl IR+ g © ol arer 9 oy ©
IR Afad H Tgd Slee! ¢rAWR 81T § 30T S99 99 o fo1E TIrd FEXE R &1 Urei 3 &1 qalTg &1 off X861 6 | TRPR ATHISTD ol a8 3@ TR 91k
éﬁ%a@wmﬁwwaﬁslWw%%@@ﬁWWW|wm$a&rﬁﬁmaﬁaﬁwm ST T fefear
ST BIT | 39 IRY H1 YHHUI 814 & §1¢ §UR, B, TG A1 H dheiths, AT de-1 3R el H WRT St IHwm gidt § | 98 iRy U § gk Afad
2 a5 ST Tl & TR 33 A a5 TraUT SR S &1 2 | T TR iR A e Uga i & G S7aT o7 3R e @ T8 92t Ao @ g
S H 1 UgT QT ] | HRAT Y §a1d 3 fog ieret FEwe R =1 et 8 | 81 ) IR-GR €1 § 3R TS T I &1 I 5 |

Sub questions




Question Number : 96 Question Id : 59445943219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG U DI I IRy & IR W F11 77 § 3R I8 e O hy THWT 8l § 2
Options :

1. ¢ BRIFT, Wl- Y™ i o H dhelih

2. % ST gagwH!

3. % HAIRAT, {REH Wil yebT

4. % WRARL A S

Question Number : 97 Question Id : 59445943220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATRY ¥ T & ol PR g aa R AR 7 2
Options :

1. % g1y Y g A

2. % §IER Gl gaT H g

3. % e g

4. TS g3

Question Number : 98 Question Id : 59445943221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g aRRY T Ugd ford <=1 H 31 2
Options :

1. ¢ 9

2. % ARSI

3. % Tad

4. % gcdt

Question Number : 99 Question Id : 59445943222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR BT WIIaTID IS 2
Options :



1. % JTerHd
2. ¢ fadd
3. % 39
4. % QR

Question Number : 100 Question Id : 59445943223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTwse & forg Ifud =five il |
Options :

1. ¢ DRIFERKRY

2. % DRI b AU

3. % HRMAT R FHIS g3l

4. % HRAT D Y IS U

Question Id : 59445943218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

3 fou 7 eI F eaTgE® U SR U U Ul &1 aaH ST |

DHRIFTARRY I8 Th U1 YA 5 s safdd &1 G- iR i o ot JHw 81 9« 8 | afe fhdl safad & SR g3 § < aRRY 39 fad ¥
T o T 98 ofec SRR BIT € SUTAIT ST §9 & 7T Teret FSeERIT o1 UTer A 1 TalTe 2 o & B | TRPR FHIID g3l S 78 IR SR
3 gl g A1 3 ARy W 51 ol b | Tgl HRUT g fb R = A Albsr3 fooar M| 39 FIHRt & @&i0n &t a1d & Al I8 [T Gal-gje a1 faaf=an
SR BT € | 59 IRy 1 UshHU 81 & §1c §UR, JbH, TG a1 H ah i, 1 de-1 3R Ta H /R I Tremy gt § | 98 IRy Us § gak dfad
o 9gd AT Y Herd ¢ STRIT 3T AHR Igd Tau aRcll o1 61 81 I8 iRy fider & Yo Ugd - H Wi 317 o7 3R I ¥ I8 aa doil o guR
XN T it UgT |1 8 | SR 919 & o ARt e RiT a1 sRest 8 | 811 & IR-AR UIHT § 3R YWhls &1 I & X@1 5 |

Sub questions

Question Number : 96 Question Id : 59445943219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T H HIF I IRY F IR T TN 1§ 3R T8 em  Hd T gt 8 2
Options :

1. ¥ DR, WEl- Jb1H i o T dhallth

2. % ST gcgoHt

3. % HIRAT, I W™ YD



4. % WU AT aS

Question Number : 97 Question Id : 59445943220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AERY ¥ T & ol PR b S R AR @7 2
Options :

1. % 1Y 9 g1y foemn

2. ® QeI gl gar o A

3. % e g

4. IS g3

Question Number : 98 Question Id : 59445943221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ig IIRY UaY Ugd fobd a=1 H ST 2
Options :

1. ¢ 9

2. % ARSI

3. % e

4. % geal

Question Number : 99 Question Id : 59445943222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A BT UGS TR G 2
Options :

1. % SfTafigd

2. « Hfddcd

3. % g4

4. % QN

Question Number : 100 Question Id : 59445943223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



3G & forg S 2 v |
Options :

1. ¢ BRIFEIRY

2. % PRI &b W&

3. % PRI 3R FHHD G

4. % DRAT D TY IS U

Disciplinel
Group Number : 6
Group Id : 594459962
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 5944591687
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591965
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 59445943224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
The mass% of hydrogen in water is
Options :

1. * 5.59%

2.% 11.18%

3. % 88.79%

4. % 16%

Question Number : 101 Question Id : 59445943224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
O § SIS IoH BT GHM % &l
Options :

1. * 5.59%

2.9 11.18%

3. % 88.79%

4. % 16%

Question Number : 102 Question Id : 59445943225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sugar syrup and tea are examples of
Options :

1. # Compound

2. % Homogenous mixture

3. # Heterogeneous mixture

4. ®# FElements

Question Number : 102 Question Id : 59445943225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
EIREIIEN ) & IR 5|
Options :

1. % 9fH

2. ¢ AL fArgon



3. % faump fsor
4. % gl

Question Number : 103 Question Id : 59445943226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Blood is an example of

Options :

1. # Sol

2. # Colloidal solution

3. % Colloidal Suspension

4. % Emulsion

Question Number : 103 Question Id : 59445943226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o B ISR g |
Options :

1. % 9d

2. % Hicd faaaq

3. ¢ Bl Teia

4. % g

Question Number : 104 Question Id : 59445943227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Glass belongs to which state of matter?
Options :

1. ¥ Solid

2. % Liquid

3. % Solid but atomic structure of liquid
4. ¥ Liquid but atomic Structure of solid

Question Number : 104 Question Id : 59445943227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
&g o uerd 3 s/ I Teifdd 3
Options :

1. % 319

2. % ¢d

3. ¢ GBI Qb d &1 URHTY] TR
4. % 5d QT 319 DI URATY] W

Question Number : 105 Question Id : 59445943228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the two statements given, analyse and answer:

I) Solids have a finite shear Modulus whereas liquids do not.
IT) Atoms are always in thermal motion and do not have a fixed position

Options :

1. % Only I is true

2. % Only Il is true

3. ® Both I and II are true and II is the correct explanation of T

4. % Both I and II are true but II is not the correct explanation of I

Question Number : 105 Question Id : 59445943228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T & YAl & T, fIzawor 3 3iR IW <

1) 319 ® URfAd 3U=g0r ATUie BIdT § Siafd gd H Tel gla1 g
11) TRHTY] AL S T H 81 & 7R S77p1 18 Midyd fRufy et et &

Options :

. % Had 18 9d e

2. % HAd 1 JI g

3. % (RIS T E 3R 11, 1 B! I8! RS §
4. 1 3R 11 SF1 I 8 A 11, 1 B gl T T8l &

Question Number : 106 Question Id : 59445943229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

An element with atomic number 103 has a nuclear charge of +103. So its charge would be balanced by
Options :

1. ¥ 103 electrons

2. % 103 protons

3. % 104 electrons

4. ¥ 104 protons

Question Number : 106 Question Id : 59445943229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHTY] SHHIE 103 T dd DT AIMNDBIT A +103 § | 3fck: THBT TR SRT Sgferd fopar S|
Options :

1. ¥ 103 3dacH

2. % 1039l

3. % 104 oI

4. % 104 9TCH

Question Number : 107 Question Id : 59445943230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electron near the nucleus is strongly attracted by the nucleus and has
Options :

1. ¥ Low kinetic energy

2. ¥ Low potential energy

3. # High kinetic energy

4. % High potential energy

Question Number : 107 Question Id : 59445943230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & e T 3aaer it gRT Siafiice et gdr g 3R gad RIS
Options :

1. % B TAS Sl

2. ¢ HH fRYfaet SHolf



3. % I T Sl
4. % 3= fufas =it

Question Number : 108 Question Id : 59445943231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many emission spectrum for sodiumlie in the range 588-590nm?
Options :

1.¥2

2. % 4

3.% 1

4. % 0

Question Number : 108 Question Id : 59445943231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & forg fham o quichH 588-590 nm &1 AT H 62
Options :

1.¥2

2. % 4

3.% 1

4. % 0

Question Number : 109 Question Id : 59445943232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these stands false for Bohr's Theory?

Options :

1. # An electron does not radiate energy if it stays in one orbit

2. % When an electron moves from one orbit to another it either radiates or absorbs energy

3. # For an electron to remain in its orbit, electrostatic attraction between electron and the nucleus which tends to pull the electron towards the nucleus must be
equal to the gravitational force

4. # The energy of an electron in orbit i.e. its angular momentum, MVR must be equal to a whole number n of quanta

Question Number : 109 Question Id : 59445943232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH I HH 91 IR & Rigid & o e g2

Options :

1. % ZATCH Sl o1 fAfhR0r 781 T § Ife 98 TP He W gar g

2. % TG DS SAGC TP HefT Y GO H&f T ST § al 98 1 al Soll BT fAfhR0T BT § 3T SN FHRell §

_;,\«fwmm$wﬁaﬁwﬁ$%ﬁ,3ﬁfﬁﬁﬁw$aﬂa®ﬁw&Wﬁw,ﬁﬁsﬁaiﬁﬁmf%a%&h?m%,mw
CRERN |

4. % G T gAGS DI Soll ST IYDBT BV HT, MVR HicT B gui TS n & SRISR g ATRT

Question Number : 110 Question Id : 59445943233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Equilibrium constant for N;O; — 2NO;(g) at 298K will be ]
(Given the partial pressure of N;O4 = 0.20 atm and NO; = 0.15 atm)
Options :

1. ¥ 0.12

2. % 0.15

3.40.11

4. % 0.18

Question Number : 110 Question Id : 59445943233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
N,O, = 2NO, (g) ¥ &7 298K 9T Tr=r f&e= g
(N,O; = 0.20 atm 3T NO, = 0.15 atm & 3f3= a9 & 3@ gO)

Options :
1. % 0.12
2. % 0.15
3.9 0.11
4. % 0.18

Question Number : 111 Question Id : 59445943234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equation is true for a perfect gas equilibria?
Options :

|« b= T RT In (p/p)
» % W= -RT In (p/p’)
3 % W= TRT In (p/p)

4 = B -RTIn(p*/p)

Question Number : 111 Question Id : 59445943234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafaa & 9 o a1 gHievu el 19 IrawiT & for I 82

Options :
|« BEW + RT In (p/pY)

, = =K - RT In (p/p%)
3 % BT + RT In (p*/p)

4 » WK - RT In (p°/p)

Question Number : 112 Question Id : 59445943235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reaction A=B can be stated as at equilibrium when
Options :



| %= Ma~ Hp
), x M Ha
3.» HATHB

4. % Ha=0

Question Number : 112 Question Id : 59445943235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTATHAT A = B FT HFEISEAT 9T Fgl 3T ol & 9 i
Options :

| % Ha> Hs

) % HB” Ha
3.~;;/Mﬂ.= “El
4. % HF".=D

Question Number : 113 Question Id : 59445943236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an experiment on adsorption for hydrogen on different faces of copper
crystal, adsorption on face | E, was found to be 28kJ/mol and on face 2 E;
was found to be 33 kJ/mol. If Arrhenius behaviour is assumed and
frequency factors are the same, the rates of adsorption on equal areas of 2
faces at 250 K is

Options :



1. % 10.5
2. % 8.96
3.9 11
4. % 50

Question Number : 113 Question Id : 59445943236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA frrea & e B W gEsea & ARivor 97 & g3 &, B 1 E, 9 914 &
HfereiwoT 28kJ/mol & 3T ®es 2 E, 9T 33 kJ/mol 91ar Tl AfE 3NEHE sa9er &1 7 o
ST 3T 3Ecd R TA &, df 250 K 9 2 Felel & FHAT &3 W HERNoT &3 gl

Options :
1. # 10.5
2. % 896
3.9 11
4. % 50

Question Number : 114 Question Id : 59445943237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is true for Langmuir Isotherm associated without dissociation?
Options :

| % 8= (ap)* {I+(ap)'?}
,  9=ap/(1+ap)

3 % 8=ap/(l-ap)

4 % 0=(0p)"%- {1+(p)*?}

Question Number : 114 Question Id : 59445943237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

B 7 fagior & 91 FT g3 TR 3umd & forg Tgt 72

Options :
| % 8 = (ap)?+ {1+(ap)'?}
, v 6 = ap/ (1+ ap)
3 = 6 = ap/ (1- ap)
4 % 8= (ap)"™ {1+(ap)'®}

Question Number : 115 Question Id : 59445943238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Observed standard enthalpy of a surface phenomenon for CH; as adsorbate
is -21 kI/mol. This is an example of

Options :

1. ¥ Physisorption

2. % Chemisorption

3. # Physical adsorption

4. % Chemical adsorption

Question Number : 115 Question Id : 59445943238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

s & ® & CH, & T madr aww Hr 9fada aas o7 F5A1 -21 kdimol &1 I8

3ETEI0T 2l

Options :

1. ¢ TPRYARTRE

2. % HEIRUTH

3. % ffoTHd USaRURM



4. % HPHd UTSIRIIH

Question Number : 116 Question Id : 59445943239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For graphical determination of rate constant of a first order reaction, when
In[p/po] is plotted against t a is obtained.

Options :

1. # Sigmoidal curve

2. % Increasing slope

3. % Decreasing slope

4. ® constant slope

Question Number : 116 Question Id : 59445943239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Hife Hr #@FI & T s &y JuRor & f@re, 39 Infplpy] # t F WA Hef@g Far Jar
- i 1= | -

Options :

1. % Rrizsa &d
2. % IR T
3. ¢ [SpIRimT Ty
4. % PiAC WY

Question Number : 117 Question Id : 59445943240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate determining step in any reaction is
Options :

1. ¥ The slowest step

2. # The fastest step

3. ® Not determinable

4. % The first step



Question Number : 117 Question Id : 59445943240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fomeft T aiftifpan # @R RyRor sar =R g g
Options :

1. ¥ G Wild¥ ¥

2. % G HRCE LY

3. % Hic SlexHEued

4. % THE LY

Question Number : 118 Question Id : 59445943241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CHslatcohoyt CH3CH:O atcohoty — CH3OCH2CHjaiconolyt I (aleohol IS an
example of

Options :

1. ® Unimolecular reaction

2. % Bimolecular reaction

3. # Radioactive decay

4. ¥ Pseudo-First order reaction

Question Number : 118 Question Id : 59445943241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CHsljaiconont CH3CH2O (iconoy — CH3OCHCHaiconon™ 1 (aicohony _ &BT 3&T8L0T gl
Options :

1. % Th3(Ud SHHfhar

2.  Tg-srurfaes siftifesar

3. % JfSTrafdbaar e

4. % BYYUYH HH AT

Question Number : 119 Question Id : 59445943242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the Debye-Huckel limiting law, if the concentration of a dilute aqueous solution of
KCl 1s mcreased 9 folds, the value of In Yz (molar mean 1onic activity coefficient 1s

Options :

1. # Increase by 9 fold
2. # Decrease by 9 fold
3. # Increase by 3 fold
4. % Decrease by 3 fold

Question Number : 119 Question Id : 59445943242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

émé@%%ﬁfﬁﬁﬂﬁ&’iﬁ$&aﬂw,U%Kcﬁaﬁa?ﬂﬂﬁwa%Wﬂma@rwﬁ%,a‘rmwwm@mmm%wﬁﬁfﬁwm
|

Options :

1. % 9T gfg
2. % 9 TATY geId
3. % 37T gfG
4. 3 TAT Y "Xl

Question Number : 120 Question Id : 59445943243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When two different concentrations of Hydrochloric acids are used as electrolytes in a system, it contributes as an additional source of potential difference at the
interface. This is an example of

Options :

1. #® Salt bridge

2. # Reducing agent

3. # Oxidising agent

4. % Liquid junction potential

Question Number : 120 Question Id : 59445943243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
O BIRSIGAINeD 3 & &l AHTHT-HTHT isdl BT SUANT e H faggd 3fueed & FY fhd1 ST &, df I8 SIRTHad (3etbhy) H GHIfad 3R &
3ifafved 9id & U H AN AR T8 H1 ISR B |




Options :

1. % QU Yq (Hiee foiol)

2. % UAIdH

3. % RIPRD

4. ¢ 33 9f¥ faya (afes Siavm aiciRre)

Discipline2
Group Number : 7
Group Id : 594459963
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 5944591688
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591966
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445943244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
To prepare 1L of 5N solution of conc. HCI from 37% HCI one would need how much of HCI?



Options :

1. % 370 mL
2.% 493 mL
3. % 50 mL
4, % 256 mL

Question Number : 121 Question Id : 59445943244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

37% HC1 ¥ TE HC1 BT 5N faeH &1 1L IR dA & 1T Hel &t et sia=adsar gif
Options :

1. % 370 mL

2.9 493 mL

3. % 50 mL

4. ¥ 256 mL

Question Number : 122 Question Id : 59445943245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When solid solute is added to a solvent, some solute particles in solution collide with the solid solute particles and get separated out of solution. This process is
known as

Options :

1. # Dissolution

2. # Solubilisation
3. % Crystallisation

4. % Deionisation

Question Number : 122 Question Id : 59445943245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
s St faamae 7 31 facia firamar smar € df faera & o fao #0319 fadg & S0l I e € SR g § 3rer 8 oird €1 39 vfshar &1

& 9 ST ST 3|
Options :

1. % fageq
IR E NI



3. ¢ fheediaru
4. % f33MgiaHRo

Question Number : 123 Question Id : 59445943246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution of Gallic acid in ethanol was made by dissolving 0.05 mg in 250 mL of ethanol(w/v). This solution in ppm would be
Options :

1. # 0.05 ppm

2. % 1 ppm

3.% 0.2 ppm

4. % 0.5 ppm

Question Number : 123 Question Id : 59445943246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IATST (W/v) & 250 mL & 0.05mg Taeaaay sdatar # Ao 3= &1 e samr 1 on a8 Foas ppm &
grem|

Options :

1. * 0.05 ppm
2. % 1 ppm
3.4 0.2 ppm
4. % (0.5 ppm

Question Number : 124 Question Id : 59445943247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When 100ml of H;SO;, HCI and HNO; in their respective beakers are

mixed with water to make a total volume of 500 mL of each solution,
increasing molarity will be in order

Options :
| % H2SO4<HCI<HNOj;



, % HNO3<H;SO4<HCI
;  HCI<HNO;<H;SO:s

4 % H:S50,<HNO;<HC!

Question Number : 124 Question Id : 59445943247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

1§ H,S0,, HCI 3T HNO; & 100ml &t Y% faerae &t o AT 500mL a1t & forw 3a7@ wafia
& |y fAPE fhar smar g, ar aedr g3 Ao FH H arEf

Options :
| % H,SO,<HCI<KHNO;

, x HNO;<H,S0,<HCI
; » HCISHNO,;<H,S0,

, % HyS0,<HNO;<HCI

Question Number : 125 Question Id : 59445943248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The geometry in accordance with VSEPR theory in CIFs™ is
Options :

1. # Square planar

2. % Octahedral

3. ¥ Square pyramidal

4. ¥ See saw



Question Number : 125 Question Id : 59445943248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIF,” # VSEPR fad & aqar sarfafa gl
Options :

1. % I gHAT (FPRR WIR)

2. % THADY

3. % WIR fRIfrsa

4.« G gl

Question Number : 126 Question Id : 59445943249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following has the largest bond order?
Options :

1% C

2. % O
3. ¢ N2

4% B2

Question Number : 126 Question Id : 59445943249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafea o 3 fog A gad g1 91 3ifse 82
Options :

1. ® CE

2. # 02



3¢ N

4. % F2

Question Number : 127 Question Id : 59445943250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water is polar because

Options :

| = There is a dipole moment between H™ and O

2. % It has a linear arrangement and an electronegative central atom
3. # The electric charge is not uniformly distributed

4. ¥ It has repulsive lone pairs which results in a bent structure

Question Number : 127 Question Id : 59445943250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g et g i |

Options :

| H RO & drr gfaya smgor g 2

2. % T Y TR 3R faqyd BUIeTes HEd TRAT &
3. % fegd 33w 99H ©U 3 fadkad Te ghar e
4. ¥ TH YfABRS ThTh! STl Bidl & o URUMRGEY Ja! g8 ST gidl &

Question Number : 128 Question Id : 59445943251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Even if fluorine is more electronegative than hydrogen. resultant dipole of
NH; is greater than that of NFs. This is due to

Options :



« Presence of extra lone pair in NF3
% Repulsion and steric hindrance between N and F in NF;3

The orbital dipole in NF; is opposite in direction to the resultant dipole
3« moment of N-F bonds

« Total charge on NHj is positive

Question Number : 128 Question Id : 59445943251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

STor &7 FelIe 2TEEIeteT T Jore H 34fO% HoT ey 2, NH; &1 9ftomsr gfaygs NF; & samer giar &
& SHIOT 2T gl

Options :

|« NF; & sfafas wea Sidr i safeafa
, » NF; & N 3R F & @ gfaedor it wifaes amer
, o NF; & % gfaya, N-F ey (sfes) & aRome gfayge smeet & faer # Roda §

4$Nnggﬂmrﬂm%

Question Number : 129 Question Id : 59445943252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a spring is wound, 100J of work is done on it but 15J escapes to the surrounding as heat. What will be the change in internal energy of the spring?
Options :

| % AU= -115J



5 % AU= +115J
s v AU= +85J

4, % AU= -85J

Question Number : 129 Question Id : 59445943252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T BT o1 fE=1 ST 7, @ S W 100) ST {501 SI1aT 8 Afh 157 ST & U H U § thel STl g | FBAT 61 3tiales Soil & m gRad grme

Options :
| % AU= -115J

5 % AU= +115J
5w AU= +85J

4, % AU= -85J

Question Number : 130 Question Id : 59445943253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chemical reaction carried out in an open container forms certain amount of gas. The work done by this system will be
Options :

1.%0

3.¢ PV

4. % VAPex



Question Number : 130 Question Id : 59445943253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Gl UH (@) | $I T I9rfss sififerar § ffda amn @ 79 a9t 81 59 Fom gr1 fea mar ard el

Options :
1. ® 0

2. % PetV
3. v PV

4. % VAPox

Question Number : 131 Question Id : 59445943254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analyse the two statements for assertion and reasoning:

a) The internal energy is a state function and depends only on a current state
of the system and is independent of how that state was achieved.

b) The translational contribution to the molar internal energy of a perfect
gas is 3.72kJ/mol at 25°C.

Options :

1. ¥ Both a and b are true and a is the correct explanation of b

2. ® Both a and b are true but a is not the correct explanation of b

3. # Only a is true

4. % Only b is true

Question Number : 131 Question Id : 59445943254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



HFUT 3T g% F BT ar FuaT # TN w1

a) AN FAT UF JTTT 14 ¢ 3T I e # s9A s W 7w a3dr § 3 39 e
H HE T THAT T o7 3EW HEA £

b) T e I\ Fr Arew ¥ANF FAT F BT FEEdT A9ET 25°C 9T 3.72kJ/mol gl
Options :

I.Vaﬁbﬁwgﬁ?a,baﬂﬂﬁmé

2. % aﬁ?baﬁwgaﬁﬂa,bﬁﬂfﬂmqﬁ%

3. % HadaTd g

4. % FAAbIAQ

Question Number : 132 Question Id : 59445943255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An element has atomic number 25. This element belongs to
Options :

1. #* s-block

2. # p-block

3. ¢ d-block

4. % f-block

Question Number : 132 Question Id : 59445943255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS dcd 1 URHTY] HHIP 25 § | T§ d@ I Efa g
Options :

1. % s&dlh

2. % p—G_Q”ITEE

3. ¢ d-AlD

4. % f&dAID

Question Number : 133 Question Id : 59445943256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
The heat of atomization decreases in order
Options :

1. ¥ Cs>Rb>K>Na>Li

2. ¥ Li>Na>K>Rb>Cs

3. # Na>Li>K>Cs>Rb

4. # Cs>Rb>Na>K>Li

Question Number : 133 Question Id : 59445943256 Question Type
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRHATU[EHRUT T ST w1 B gedt g
Options :

| % Cs>Rb>K>Na>Li

, » Li>Na>K>Rb>Cs
; % Na>Li>K>Cs>Rb

4. # Cs>Rb>Na>K>Li

Question Number : 134 Question Id : 59445943257 Question Type
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ionic radii increases in the order
Options :

1 % Cri-<Cri+<Cry+=<Crs;+<Crg-

R4 Crg-<Crs-<Cr4-<Cr;-<Cro-
3 % Crg=<Crs-<Cr3-<Cry-<Cr+

4 % Cry+<Cry-<Cr3-<Crs;+<Crg+

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Question Number : 134 Question Id : 59445943257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
S e FAH gedl g

Options :
| % Cry.<Cr3,<Cry,<Crs.<Crs.

» « Crs.<Crs.<Cry.<Cr3.<Crs.
3 % Crg.<Cr5,<Cr3.<Cry.<Crs.

4 % Cry.<Cry<Cra,<Crs.<Crs.

Question Number : 135 Question Id : 59445943258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA & 08 & 3UR &IF 91 94 82

Options :

L Ti¥" 3t V¥ arcafes gdietor o g

1.

Ti* 3R V¥ foaer gdeor w8

2. %

s« T 3R V¥ gery 3 €

4. % Ti** 3k v # faw 3w fammmw ($iir.$3|iam} E‘FIT

Question Number : 135 Question Id : 59445943258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
According to Fajan's rule which one holds true?
Options :

|« T and V3* will be highly polarising
, » T and V3* will be poorly polarising
3 # Ti* and V3" are neutral ions

4 % TP and V3* will have stable gas configuration

Question Number : 136 Question Id : 59445943259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A compound X produced at oil refineries and also present in natural gas
which when mixed with steam and passed over a nickel catalyst at 800-900°C
produces hydrogen as a product. The compound is

Options :

1% CO

) ® NH;
3.v CHy

4. % CHs

Question Number : 136 Question Id : 59445943259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



aa RematEt #§ sanfea 9iffe X 3 wpfas 3w 7 o #igg ¢ 5w a9 & ary 3le &= o1 6k
800-900°C X faerel 3e9e & FR W AT ¢ Al 3¢9 & T H grRaiiel H1 3caes el ¢l Afew
gl

Options :

2. % NH3
3.v CHs

4 % CHs

Question Number : 137 Question Id : 59445943260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tritium is an isotope of hydrogen which is radioactive. It decays by
Options :

1. % ©-emission

, w Dpositron emission
3 % - emission

4 « P-emission

Question Number : 137 Question Id : 59445943260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeor g &1 TR § of Yearenif g1 a8 &I BA g

Options :



1. % a- IeHe
5 TSI 3Hete
3 % Y'B?HGF'H

4'%{,;3-3?93‘13

Question Number : 138 Question Id : 59445943261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atomic hydrogen recombines to give molecular hydrogen and a large amount of heat in a very fast reaction and can also be used for welding metals. This is
because

Options :

1. ¥ Hydrogen molecule is very unstable at room temperature
2. % Hydrogen does not react readily with other elements

3. ¢ Dissociation of hydrogen molecule is highly exothermic
4. # Hydrogen only exists as ions for stability

Question Number : 138 Question Id : 59445943261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHTY] ETE SIS U: YA g1 dgd atg ififohar & Suifdss grgeior iR Sal AT H SSAT <dT § 3R SUHT SUdT argseft & afee™ & forg off fasar s
JoHdI g1 T8 & HRURI

Options :

1. % QIZSIoH (U] el dTIAH IR §gd 3IRR B

2. % BRI 3 dedl & ITY AT § Ufafohar T8 w1 |

3. ¢ BIZSISH 3 fage i SSaT gl g

4. % GIZSIoM had ST & ©9 H fRRAT & fow Aivg §

Question Number : 139 Question Id : 59445943262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



An element X essentially used in fertilisers and soap is obtained by electrolysing at high temperatures along with sodium. Element X is
Options :

1. % Lithium

2. % Sodium

3. ¥ Potassium

4. # Rubidium

Question Number : 139 Question Id : 59445943262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRP! 3R g A 3ifarda: IuART faar M 91T U dd X TfSTH & W1y I dTuHH WR fIgyd sfaee gRT I fosar Srdr 81 9 X gl
Options :

1. % oy

2. % Hifggy

3. el

4. % Jfafegn

Question Number : 140 Question Id : 59445943263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Electrolysis as a source of extraction of metals are only successful when

Options :

1. # Aqueous solution of metals are used
2. ¥ Fused halides are used

3. % Metal oxides are used

4. # Metal hydrides are used

Question Number : 140 Question Id : 59445943263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ergsit & Fspyur & Wi & w0 H fagyd srage ayt Iwd gar g o
Options :

1. % YTt P STeg fIer o1 UaT fohan o &

2. ¥ TGS §RS HT SUANT {3 STl §

3. % YT ATRIZS BT SUTNT {1 ST §




4. % YT TISSIIS DI IUANT fohdT ST B
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Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 141 Question Id : 59445943264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
Effective atomic number of Fe? in complex [Fe(CN)s]* is

Options :
1. % 26
2. % 24

Discipline3
8
594459964
0
0
No
No
0
20
No

Discipline3
5944591689
1
Online
Mandatory
20
20
20
Yes
1
5944591967
Yes



3.9 36
4. % 34

Question Number : 141 Question Id : 59445943264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T [Fe(CN)s]" # Fe™ &1 Tt RaAw] A 2l
Options :

1. % 26

2. % 24

3.4 36

4. % 34

Question Number : 142 Question Id : 59445943265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to CFT (crystal field theory) [Ni(CN)4]* has
Options :

1. # Triagonal structure

2. # Qctahedral structure

3. ¥ Square planar structure

4. ® Tetrahedral structure

Question Number : 142 Question Id : 59445943265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CFT (freeer Bros e S 3@ NICN), 1> & g=r &l
Options :

1. % Byiia T T (@ TaR)

2. % JYBAfhy YT

3.« i gHAC SRl (XPTYR WX I KIY)

4, % JIUHAD Y TR (CClogd WRR)




Question Number : 143 Question Id : 59445943266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hydrocarbon used as a refrigerant and aerosol propellant is prepared using Wurtz reaction with bromoethane and sodium metal in dry ether. The final product is

Options :

1. # Ethane

2. #® n-Propane
3. % n-Butane
4. ¥ Ethene

Question Number : 143 Question Id : 59445943266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it 3R Uiy Aieds & U B IUUNT fHa1 9 aTel g13s abTa- Y 3R | SAgd 3R e urg & W1y géut HTfhan 1 IuTN dHReb daR
fbg ST 1 sifew e gl

Options :
1. % 39
2. % n.YoA
3.¢ n—@ﬁq
4. % T

Question Number : 144 Question Id : 59445943267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the reaction CH;COONa+NaOH (in presence of CaO and heat)— A + B.
A & B respectively are &

Options :
| % CH:COOH ; NaxCOs

) % C:HsOH ; Na:COs

3 % CiHs; NayCOs



4 CH; ; Na;CO4

Question Number : 144 Question Id : 59445943267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

wiAfEHAT CH,COONa+NaOH (CaO 3T Fsar fr suftyfa &) —» A + B & A 3k B &H:
— 3R — &

Options :

| » CH3COOH ; Na,COs;

) ® CQHEOH : NEQCOg
3 % CoHs ; NayCOs;

4. CH4 : N32C03

Question Number : 145 Question Id : 59445943268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Benzene reacts with bromine in presence of Iron(III) bromide as a catalyst to form
Options :

1. ¥ Bromobenzene and HBr

2. % Only bromobenzene

3. % Only HBr

4. ® No reaction at all

Question Number : 145 Question Id : 59445943268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST STRA (111) THZS &I UM T ISRP o =4 H T & fore s & gry ufafear sar g

Options :



1. ¢ Ao 3R HBr

2. % Had siHEA

3. % %dd HBr

4. % Brs AfNfgrar 7 Y gt

Question Number : 146 Question Id : 59445943269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bond angle of C-C bonds in Benzene are
Options :

1.« All 120°

> % Three are 180° and three are 120°
3 % All are 60°

4 % Three are 60° and three are 120°

Question Number : 146 Question Id : 59445943269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SO H C-C STy BT AT HIoT g gl
Options :

| v Tsfr 120°

, % drT 180° ¥ 3R e 120° &

, x T 60° E

4 » A 60° § 3T A 120° §



Question Number : 147 Question Id : 59445943270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In general, the most stable resonance structure for a polycyclic aromatic hydrocarbon is
Options :

1. # One with largest number of double bonds

2. # One with greatest number of rings

3. ¥ One with rings, all of which corresponds to Kekule formulations

4. % One with largest number of substituents

Question Number : 147 Question Id : 59445943270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, UTeTS i WIS TSI & o qedl R efgrre TR gl
Options :

1. % S A1GY Bl G TSt AT aTell

2. % 0T & Y ISt GAT dTell

3. ¢ {59 & 91y are U, forad § It pd BraRe § A @rdT 8

4. % YITRITTE & 9y Jo! T=AT Il T

Question Number : 148 Question Id : 59445943271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reactivity of primary, secondary and tertiary hydrogen for bromination is
Options :

| % RCH;=R.CH,=R;CH

2 R;CH>=R;CH-=RCH;

3 % RCH;=R;CH=R:CH;

4. % R3CH-RCH3;>R;CH;

Question Number : 148 Question Id : 59445943271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR & forg Tnufies, fediaes SR i gregier & ufdfoarsiied &l
Options :

| = RCH3>R,CH»>R;CH

, » RsCH>R,CH,>RCH;
5 » RCHy>RsCH>R,CH;

4 % R3CH>RCH3>R,;CH;

Question Number : 149 Question Id : 59445943272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For bromination of benzene, the major product formed will be
Options :

1. % Hydrogen bromide

2. ¥ Bromobenzene

3. # Cyclobromobenzene

4. ¥ Cyclobromopentane

Question Number : 149 Question Id : 59445943272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S & SEFTDHRU & [T, " IdTE ST &1, 98 Euil
Options :

1. # BIgSINH dIHISS

2. ¢ SiHEGA

3. % HTgRASIHIESI

4. % GrgadlsHEUC

Question Number : 150 Question Id : 59445943273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

1, 1- Diphenyl-2-propanone is reacted with compound a and b to form 1,1-Diphenyl-2-propanol. a and b corresponds to
Options :

| % a=LiAlHy; b= diethyl ether

) % a=LiAlH4,H;0; b= diethyl ether

3  @=LiAlH, diethyl ether; b=H,O

4 = @ LIAIHy; b=diethyl ether, 520

Question Number : 150 Question Id : 59445943273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1,1- STRhTEE-2- MU A a 3R b & Y 1,1-STeEd-2-UI0HTd §7H & frg ufdfsar sar g1 a 3R b BERREICES

Options :

| » A= LiAH:; b = STFATST ST

, » A = LiAIH,, H;0; b = Srasa $X
; » A = LiAH,, smrmser $2; b = H,0
, » A = LiAH; b = Smsa $R, 420

Question Number : 151 Question Id : 59445943274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In phenol, the partial double bond character from the carbon - oxygen bond is a result of
Options :

1. ¥ More number of resonance structures



2. % Electronegativity of Oxygen atom
3. ¥ Conjugation of the unshared electron pair of oxygen with the aromatic ring

4. ¥ Symmetric carbons in the structure

Question Number : 151 Question Id : 59445943274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e |, BTe-HTRITo 3ee ¥ 3w Sad EY HIdex BT YR |
Options :

1. % 3G SRS B 31fee T

2. % SIRITSH URATY Dt faggq- B UGl

3. ¢ QRS A1 b 1Y RIS b SRIGHIINTG Fehere = G BT HgTHH

4. % I H QAT ST

Question Number : 152 Question Id : 59445943275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In elimination reaction of sec-Butyl trimethylammonium hydroxide, major product formed would be
Options :

1. ¥ 1-Butene

2. % 2-Butene

3. % Both 1-Butene and 2-Butene in equal amount

4. % No reaction occurs

Question Number : 152 Question Id : 59445943275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
- HCTRd CIHUTS AN TSRS ! IHaH fchar &, s+ arel Ugd 341G BT

Options :

1. ¥ 1-gcH

2. % 2.9

3. % o9 3R 2 g ol YA AT A §
4. % B3 fUfpar T BN B




Question Number : 153 Question Id : 59445943276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
STUTE S &l

Options :

1. ¢ FHAA SR

2. % AT SW

3. % Afd SR

4. % BRITEIRID SIS

Question Number : 153 Question Id : 59445943276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diethyl ether is

Options :

1. ¥ Symmetrical ether

2. # Unsymmetrical ether

3. # Mixed ether

4. % Heterocyclic compound

Question Number : 154 Question Id : 59445943277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Acetaminophen is an example of
Options :

1. ¥ Antipyretic and analgesic

2. # Anti-inflammatory

3. #* Antibiotic

4. # Anti-microbial

Question Number : 154 Question Id : 59445943277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRyt CARRARR ]

Options :



1. ¢ SIRERY 3R dgTER

2. % oI (&SRR
3. % glauifae

4. % geASiaRIdt

Question Number : 155 Question Id : 59445943278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A powerful narcotic used for relief of pain and has high addictive property is
Options :

1. # Quinidine

2. % Morphine

3. # Caffeine

4. # Aspirin

Question Number : 155 Question Id : 59445943278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3¢ 4 XTgd & forg IuanT faran o arel Rifa=iTel Wi 3R oy 3 sa9t 70 8, 98 gl
Options :

1. % fdsrg

2. ¢ ARG

3. % PHH

4. % TRURA

Question Number : 156 Question Id : 59445943279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Acetylsalicylic acid, the most widely used mild analgesic is commonly known as .
Options :

1. % Paracetamol

2. % Aspirin

3. # Quinoid

4. # Morphin



Question Number : 156 Question Id : 59445943279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

tRegadfsie thrs, Tad g 0 ¥ SURT fHa1 ST aTdl bl THea e, STHAR TR & A Y SIHT ST g |

Options :

1. ® QR
2.« TRYRA

3. % f@Hlss

4. % ARG

Question Number : 157 Question Id : 59445943280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Ion exchange method, study of which factor helps in determination of stability constant of complexes in solution?
Options :

1. # Solubility

2. ¥ Heterogenous equilibrium

3. # Conductivity

4. % Polarizability

Question Number : 157 Question Id : 59445943280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3o fafa fafd &, ford & &1 s1eqem faaa 8 e &1 fRRar RRIE & MyRor & weraar #rar g2
Options :

1. ® faogan

Question Number : 158 Question Id : 59445943281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

[CO(NH315]3+ FFcoleFd g2l



Options :

1. ¢ SEIIAP T TRR Tfded 7T 70 9 fAferg
2. % SIS fAfssg afe fasl 0 ¥ SRR
3. % Tfael 3R SIS S T SRR

4. % TS 3R SHHI-AH 1T g1 9§ fRR

Question Number : 158 Question Id : 59445943281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

[Co(INH3)s]* complex is
Options :

1. % Thermodynamically unstable but kinetically inert
2. % Thermodynamically inert but kinetically unstable
3. # Both kinetically and thermodynamically unstable
4. # Both kinetically and thermodynamically stable

Question Number : 159 Question Id : 59445943282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

During photochemical reaction of alkenes having cis and trans isomer, photolysis causes generation of
Options :

1. % Mixture richer in trans isomer

2. ¥ Mixture richer is cis isomer

3. ®# Mixture containing only trans isomer

4. % Mixture containing only cis isomer

Question Number : 159 Question Id : 59445943282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3R i gHTaTd! aTd Teb = Bt UBTRRIANS fHfHar & SR, ThTel-3gee- Pt IdTET BT HRUI AT 5 |
Options :

1. % fiyeo oi weTaEd) § 99 §

2.  farsior g wHrad ¥ 9 G §

3. % $Had <N gHIGTG gad Heor




4. % Had U JHTGIA! g AT

Question Number : 160 Question Id : 59445943283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cage like open framework structure made of aluminosilicates which has a very stable nature to resist all kind of environmental conditions are termed as

Options :

1. % Mesh
2. ® Carbene
3. % Zeolites

4. % Fullerenes

Question Number : 160 Question Id : 59445943283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬂ?ﬁmﬁgﬂ%@faﬁﬁ\—sﬁé@rv@ﬁmﬁﬁwmﬁmﬂwﬁmhwﬂqqﬁ@mﬁwﬁﬁwﬂﬁﬂ%ﬁéﬂﬁmmeﬁi3@{
bl Vdl gl

Options :

1. % Oy

2. % PIfa

3. ¢ freiiege

4. % el
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Question Number : 161 Question Id : 59445943284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Paterno-Buchi reaction, the major product formed is
Options :

1. % cis adduct

2. # trans adduct

3. # Racemic mixture

4. % Adduct formed from a long lived diradical intermediate

Question Number : 161 Question Id : 59445943284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRAT-gE ffifehar H, T SadTe S &1 ], 98 gl

Options :

1. ¢ TN SfftadH (Tsa)

2. % T YT (Tea)

3. % D Hyor

4. % TP qd 999 d& e ard fgerdf negadt @ §7= aran siftad= (Tsae)




Question Number : 162 Question Id : 59445943285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When for any atom in a molecule, an identical atom exists diametrically opposite this centre at an equal distance then the molecule has
Options :

1. # Plane of symmetry

2. # Identity

3. ¥ Centre of symmetry

4. ® Symmetry axis

Question Number : 162 Question Id : 59445943285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

W U 0] H ol TRATY] & 7T, T THM WA 39 $5 & AUl THH g TR Higlg g 8 o 3oy & BT R
Options :

1. % YHAA ad

2. ® UgdlHd

3. AT BT g

4. % JHHIT et

Question Number : 163 Question Id : 59445943286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Electro-Magnetic radiation interacts with a single atom and molecule, its behaviour depends on the amount of
Options :

1. # Wavelength

2. % Wavenumber

3. # Electrons

4. ¥ Energy per quanta (photons)

Question Number : 163 Question Id : 59445943286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ois faggd-daeiy fafur tere URHATY] SR 31U] & A1y TR fobd1 Rl 8, dl S HAGR B AR R AR AT 5

Options :




1. % gareef
2. ® qU-I=AT
3. % Foag

4. ¢ 3ol Ufd SieT (Wier)

Question Number : 164 Question Id : 59445943287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For H2O molecule which statement holds true?
Options :

1. ¥ It has no symmetry

» « Ithas C; symmetry element
5w Ithas Cs symmetry element

4 % Itpossesses C;as well as C4 symmetry element

Question Number : 164 Question Id : 59445943287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
H,O 310 & T &= & &= 77 872

Options :

| » FEH IS FARCT 768
, » FH C, GATHAAAT dea &
, % FEH C, GATHAAT dF &

, « FHH C, & WY-ury C, WAATAT a7 &



Question Number : 165 Question Id : 59445943288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The red color of oxy-haemoglobin is mainly dueto .
Options :

1. ¥ d-d transition

2. # Metal to ligand charge transfer

3. # Ligand to metal charge transfer

4 % Intraligand TI-IT* transition

Question Number : 165 Question Id : 59445943288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Erafer &1 are 31 JRea: & HRU BT B
Options :

1. ¢ d-d uRacH

2. % Y1 9 forfs STa<r RIHiaRu

3. % foiie & U1 ST RIFART

4. % TS 1-11* URadH

Question Number : 166 Question Id : 59445943289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cerium can be separated from lanthanide mixture quite easily because
Options :

| w It has Ln3+ ion structure in aqueous solution

2. * [tis inert in nature

5 Ithas Lnd+ structure in aqueous solution
4. % Tt has higher mass

Question Number : 166 Question Id : 59445943289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

ARATSS e A iR Y S A e fohar o IehdT § Hiifh
Options :

1. % Sl faaa § 39t Ln3+ 3T G gldt &

2. % Tg Upia A Afepa g

3. ¢ SO faeg H S9! Lnd+ 30 TR 8Id1 &

4. % 3BT GoTHM HfYH BT 8

Question Number : 167 Question Id : 59445943290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In reaction, 2Na>S:03 +I» — A + 2Nal ; A will be
Options :

1% Na:5S:0:.H,0

R 4 I\:azs_l_{}ﬁ

3 #® Na:sS0y

4 % Na:S0;

Question Number : 167 Question Id : 59445943290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfATHAT, 2Na,S,0; +l, — A + 2Nal #; A EN]
Options :

| % NEQSQO}HQO

2 NEQS4OB

3 % N32804



4 % N52503

Question Number : 168 Question Id : 59445943291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Ostwald process, NO is formed from catalytic oxidation of NH; to further produce nitric acid. The catalyst used in this process is
Options :

1. % Pt/Rh catalyst

2. %# Pt/Ni catalyst

3. % Pb/Pd catalyst

4. ¥ Ni/Pd catalyst

Question Number : 168 Question Id : 59445943291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eeares 9idar &, AETE 3FAT T JE 3c9ed FA F T NH; & 339 38T & NO s9ar &1 57 9ihar

H 9gFd 350 gl

Options :

1. ¥ Pt/Rh S&RP
2. % PYNi IERP
3. % Pb/Pd SERD
4. % Ni/Pd SER®D

Question Number : 169 Question Id : 59445943292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalyst used in Haber-Bosch process for making NHj is
Options :

1. % MnO;

, % FeSOy



3. % Promoted Fe

Question Number : 169 Question Id : 59445943292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
NH; s & T grag-arer SfFar & wgad 501 gl

Options :

, « Feso,

3. gHRE Fe

, % PUPtO,

Question Number : 170 Question Id : 59445943293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DETRIIEH H Fe Sheiid HTq 81l 8 SR 3eiaei g&iicRyl H B L]
Options :

1. % gHARee

2. % derel

3. % Thgiiaad

4. Wiz

Question Number : 170 Question Id : 59445943293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A metalloprotein have Fe central metal and functions in electron transfer is



Options :

1. ¥ Haemoglobin
2. # Catalase

3. % Ferredoxin
4. % Cytochrome

Question Number : 171 Question Id : 59445943294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The structure of is based on a corrin ring with Cobalt as central metal atom.
Options :

1. ® Vitamin A

2. # Vitamin D

3. % Vitamin By,

4. % Vitamin E

Question Number : 171 Question Id : 59445943294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 TR HIRA AT IR 3eTRd gicht § Forgd SieTee dhad YIg Uy 81l 3 |
Options :
1. % faerfim A
2. % fgerfid D
3. ¢ faeifi B,

4, % fqefA E

Question Number : 172 Question Id : 59445943295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Os3(CO)12, Nuclearity and M-M bonds respectively are
Options :

1.%33

2.% 32

3.% 1.3




4. % 41

Question Number : 172 Question Id : 59445943295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

0s3(C0O)+, F forw, AfErFmar 3T M-M 3meer Faen: , gl
Options :
1.¥3,3
2.% 32
3.% 1,3
4.% 41

Question Number : 173 Question Id : 59445943296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rhodium dimer [(Cp*Rh(CO);)2] has
Options :

1. # 4 bridging and 2 terminal groups

2. # 2 bridging and 4 terminal groups

3. % 2 bridging and 2 terminal groups

4. % Only 2 bridging groups

Question Number : 173 Question Id : 59445943296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UBTH SBAT [(Cp+Rh(CO),).] & @ar
Options :

1. % 4 f9fSiT ofR 2 efifa 9

2. % 2 oS o 4 Tl v

3. ¢ 2 fafSi ofR 2 cfifaa g

4. % dad 2 fafsiT ag

Question Number : 174 Question Id : 59445943297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
When valence and conduction bands are separated with a small energy band
gap E.< 1eV then they are classified as

Options :

1. ¥ Metals

2. # Insulators

3. ¥ Semi-conductors
4. # Electrolyte

Question Number : 174 Question Id : 59445943297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS TASRdT AR Ied 88 F O Felr 88 Haue E;<leV & erEr B S g ar 398 F w9 H
et fmam amar 21

Options :

1. % Yrgafi

2. % faggavreh
3.« e gard
4. % fdgygd 3{Uyucy

Question Number : 175 Question Id : 59445943298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Quantum confinement effect results in in nanoparticle of gold, platinum etc.
Options :

1. # Electric discharge

2. % Magnetic dipole

3. # Increased kinetic energy

4. # Inactivity

Question Number : 175 Question Id : 59445943298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



HicH HBISTHE UHTT & URUMGEY IH, WifeH 3Mfe & Siwun H gl
Options :

1. % faggd fdga

2.« gy fgyd

3. % g1 g3 TIasl Soll

4. % fAfspaar

Question Number : 176 Question Id : 59445943299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Magnetic nanoparticle tends to behave as larger particle because of phenomena called
Options :

1. # Suspension

2. # Dispersion

3. # Dissociation

4. ¥ Agglomeration

Question Number : 176 Question Id : 59445943299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCIRERIEAY] qHF YRGS & HRUI IS HU & ¥Y H TdgR AT |
Options :

1. % (e

2. % fETRTA

3. % fagreH

4. SUTATHIRA

Question Number : 177 Question Id : 59445943300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fragment ions with lower energy than normal appearing at m/z ratio dependent of its own mass and the mass of original ion gives rise to
Options :

1. # Fragment peak

2. % Jon peak

3. # Base peak



4. ¥ Metastable peak

Question Number : 177 Question Id : 59445943300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T & G 3R ol 31T &b Gomdi= R AR myz 3/01d W f3amE 3d amrg @ w1 Sl ara faes emaH B IUT B
Options :

1. % ThiHe Ui

2. % 31 Ui

3. % S Ui

4.« UCRCTd Ul

Question Number : 178 Question Id : 59445943301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hydrogenation of cyclohexene to form cyclohexane using Wilkinson's
catalyst [RhCI(PPh;)] is an example of

Options :

1. ¥ Symmetric catalysis

2. ¥ Asymmetric catalysis

3. # Complexating reaction

4. ® Catalytic photolysis

Question Number : 178 Question Id : 59445943301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeaar & 337 [RhCI(PPh;)] & 3991 &l HISFcligadsl aa1d & foIT HiSTalgadd & gTEsiala o
T 3SETOT ¢

Options :

1. % AT SR

2. ¢ IHMNT AR

3. # Sfeq sififoran

4. % IAPH UHIR-3Tged



Question Number : 179 Question Id : 59445943302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

d*or d'? metal complexes where non-bonding orbitals are either partially or
fully filled electronically favour which structure?

Options :

1. # Distorted Square planar

2. % Square planar

3. % Qctahedral

4. ¥ Tetrahedral

Question Number : 179 Question Id : 59445943302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

d' a1 d"° T e STET AlA-alieseT H&T AT dr Nk T { A7 g HE F Folagiiaes &7 @ M gg 3
& a7 # 72

Options :

1. % fapd ¥ gHdIOH (fSlc s WRR W)

2. % il gHAE (WPTIR WR)

3. % AHAfGY

4. ¢ TTHADI (SRS )

Question Number : 180 Question Id : 59445943303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The complex [RH(CO)(CI)(PPh;)] has a structure.
Options :

1. ® Tetrahedral

2. % Square planar

3. # Distorted square planar

4. # QOctahedral



Question Number : 180 Question Id : 59445943303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hper [RH(CO)(CI)(PPhy)] # =T A B

Options :

. % IIEFABIY (CCega)

2.« I GHAEH (WPTIR WIR)

3. % fapd 37 graa (fERids Wk W)
4. % ITHAlDY
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Question Number : 181 Question Id : 59445943304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An organometallic enzyme is involved as a component of ribonucleotide reductases that convert ribonucleotide to deoxyribonucleotides. This co-enzyme is

Options :

1. ¥ Co-enzyme B,
2. % Co-enzyme E
3. # Co-enzyme A
4. ¥ Co-enzyme K

Question Number : 181 Question Id : 59445943304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

wﬁ%%ﬁ@%%%w%wﬁmm%ﬁﬂmﬁ@&m@ﬁmﬁmw%
g Hg-fbuaeh

Options :

1. ¢ Tg-UlfhUd B12
2. % YgYUfHhUd E
3. % gg-Ufdhud A
4. % gg-YUfebud K

Question Number : 182 Question Id : 59445943305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An enzyme is responsible for
Options :

% Enhancing E, for a reaction

,  Lowering E, for a reaction

3. % Binding to the end product more tightly than the substrate

4. ® Deactivation of the reaction



Question Number : 182 Question Id : 59445943305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ufbua & fou PR B

Options :

|« HAERAT & T E, seEr

, o AEGRAT & T E, &7 &

HeHeT H gore A A’faw 3e9g F Ao A & ST

3. %

4w HERRT @ AfSET g

Question Number : 183 Question Id : 59445943306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An organometallic complex that is used as an anticancer drug that targets DNA to inhibit cell growth is called
Options :

1. # Salvarsan

2. # Ferroquine

3. % cis-Platin

4. % Chloroquine

Question Number : 183 Question Id : 59445943306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIAUTID DI for eR-Xeht TaT & T B YT fasan ST § S HIRIEGT 3f BI A & AT DNA HY Aferd el § 39 FHEI A G|
Options :

1. % HeaReA

2. % I

3. ¢ Hg-wWifea

4. % FARISH




Question Number : 184 Question Id : 59445943307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The closeness of obtained values to the true value is called
Options :

1. ¥ Accuracy

2. # Precision

3. #® Error

4. ¥ Ruggedness

Question Number : 184 Question Id : 59445943307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hed &t aRafas Yoo ° Fdsed & HEI Il g
Options :

1. ¢ YT

2. % URgd

3. % Ffe

4. % BRI

Question Number : 185 Question Id : 59445943308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In thin-layer chromatography, the stationary phase used is
Options :

1. ® Carbon

2. % Copper plate

3. % Silica packed aluminium plate

4. ¥ Glass beads

Question Number : 185 Question Id : 59445943308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udell TRd quieRa- |, SUTNT far Sirar fRIR =Rur gl



Options :

1. % BT

2. % Y Pl e

3. ¢ ffcreT U Tegfifom wie
4. % DHid b gD

Question Number : 186 Question Id : 59445943309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water and 95% ethanol are most used solvent in UV-spectroscopy because
Options :

1. # They are highly polar compounds

2. # They dissolve non-polar compounds
3. # They are H-bonded solvents

4. ¥ They are transparent in UV-spectrum

Question Number : 186 Question Id : 59445943309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UV-TIFC IR & U TR 95% AT BT GaY 1% SUANT o S & i
Options :

1. % § orufies ydta aiffies §

2. % 4 IR-gdIg ATP! B! O §

3. % 9 H-371eY o §

4. 3 UV-TWaeH § TR §

Question Number : 187 Question Id : 59445943310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥6Kr — ¥Kr is an example of
Options :

| % P-decay

, % O-decay



3 « Neutron-emission

4 % Positron emission

Question Number : 187 Question Id : 59445943310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

8?35Kr =c EﬁgﬁKr - -1 - T=1 -2 40 %E
Options :

| P8

) #% a-81T

3 rﬂngTrl-du‘delrl

4 % TSN ScES

Question Number : 188 Question Id : 59445943311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum amount of fissionable material that can produce a self sustaining chain reaction is called
Options :

1. # Flux

2. # Innoculum

3. % Critical mass

4. #® Feed

Question Number : 188 Question Id : 59445943311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



o Tl &1 YAaH AET S SHTH-URUN Y8aT SHNTohaT IUd &R Tahd! 8, 39 CIHRSIGI|
Options :

1. % 3{f¥arg

2. % SAPHQA

3. ¢ ifdd SHAH

4. % I

Question Number : 189 Question Id : 59445943312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reactors which use UO; pellets enriched to 2.3% fuel, D,O as moderators
and water as coolant is called

Options :

1. # Fast breeder reactor

2. * Boiling water reactor

3. # Pressurised water reactor

4. % Steam generating heavy water reactor

Question Number : 189 Question Id : 59445943312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rueer A 2.3% $ua & T @ UO, 99T &1 3901 #1d &, DO # A & ¥ & 3T 7= #
T # 39U FJ &, 3 gl ST &

Options :

1. % O JoHe RUaex

2. % HYF 5 NUFeR

3. % grfad od Rudex

4. ¢ YT ITF B aTdl HRI 5d RTaex

Question Number : 190 Question Id : 59445943313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristic which is not usually regarded for green chemical compounds is
Options :



1. ¥ Preparation from renewable resources

2. % Low tendency to undergo sudden, violent, unpredictable reaction
3. # Readily biodegradable

4. ¥ Extremely high stability

Question Number : 190 Question Id : 59445943313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faRIwdT foT SR IR 8% S Aiffieh! & o Tg1 A St &, 98 g
Options :

1. % TdiHRONT e I AR

2. % AP, [§T®, YA BTl I oA &1 & g

3. % S A g AT SafeieRor

4. YD I R

Question Number : 191 Question Id : 59445943314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Release of chemicals to the environment in US is tracked by
Options :

1. ¥ Pollution prevention control board

2. ¥ Toxics release inventory

3. % JUPAC

4. ® International Chemical Laboratory

Question Number : 191 Question Id : 59445943314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

US H Taier 0 § SIS 7T R Bl GRI ¢ fopar SraT B
Options :

1. % gyl faRu A a8

2. ¢ 2R fRefier gdedt

3. ® JUPAC

4. % SR IS TARTRITT



Question Number : 192 Question Id : 59445943315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

% yield of any reaction is given by

Options :

1. ¥ (Actual weight obtained/Theoretical weight) x100

2. % (Theoretical weight obtained/actual weight obtained) x 100

3. # [(Actual weight-Theoretical weight)/Theoretical weight] x 100
4. ® [(Theoretical weight- Actual weight)/Theoretical weight] x 100

Question Number : 192 Question Id : 59445943315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

et oft sififman &1 9 e ERUCRISIGI
Options :

1. ¢ (U dRdfae HRAGIA® HR) x100

2. % (T Jgifae HR/UTH IRAQE HR) x 100

3. % [(@Rdfa® UR-TGIIH HR)RAGIASE UR] * 100

4. % [(Agifde UR- aRdfde HR)Agifae HR] x 100

Question Number : 193 Question Id : 59445943316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stability order for carbocations are

Options :

| w Tertiary< secondary< primary<CHs

» % CHs< tertiary< primary< secondary
3 CHs<primary<secondary<tertiary

4 = Tertiary<CHs<secondary<primary



Question Number : 193 Question Id : 59445943316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIEIYTE & forg RRaT H g

Options :

L% JA TR <ATATHRH<IUTHH<CH;
, w CHs< Ferash<srafas< Areafas
; v CHay<STufRsm<aATenfAw<gdas

., JATH<CH <HATeA A <wrafas

4.

Question Number : 194 Question Id : 59445943317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radical stabilization in free radicals is defined by
Options :

1. ® C-C bond enthalpy

2. # C-H bond enthalpy

3. % C-H bond dissociation energy

4. # C-C bond dissociation energy

Question Number : 194 Question Id : 59445943317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tad U B Joieb FRUSBR0T g1 Ry frar mar g
Options :

1. % C-C 3EY (§S) IUI AT

2. % C-H 3M§Y (§18) IO S°AT

3. ¢ C-H 3MM8Y (§3) fawed Soif



4. % C-C 3M§Y (@8 fage Sl

Question Number : 195 Question Id : 59445943318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Example of homogenous catalysts used in homogenous hydrogenation is
Options :

1. #® Finely dispersed Platinum

2. # Finely dispersed Rhodium

3. % Complexes of Rhodium

4. % Ptn/H:

Question Number : 195 Question Id : 59445943318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST B SISHIBRUN H T AU IAR® BT 3a1aRUl gl

Options :

1. % SR fawR gon wfeaw
2. % IRI® [T genRAfead
3. ¢ AT & P

4. ® P'tg:"ng

Question Number : 196 Question Id : 59445943319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In epoxidation of E-2-butene, major product formed will be
Options :

1. # cis-2,3-dimethyloxirane

2. ¥ trans-2,3-dimethyloxirane

3. # Racemic mixture of cis and trans-2,3-dimethyloxirane
4. % Not determinable



Question Number : 196 Question Id : 59445943319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

E-2-§J¢H o SUIGHIHRUl H, Tf3d THE SdIe BT

Options :

1. % W-2,3-STsfirrsarian

2. ¢ 9.2, 3-SRMUEANRRA

3. % WY 3R TY-2,3- SRR $T 40D Feom
4. % fyifeg a8t

Question Number : 197 Question Id : 59445943320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The major product of monobromination reaction of cycloalkene below is

NBS

Options :

1. v
H3C
2. %
H3C
3. %

Br
Br



H3C
Br

4. %

Question Number : 197 Question Id : 59445943320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T T AR T AARES JRERAT F IHE 5 gl
NBS
H3C — X
Options :
BrH,C
1. ¥
H3C Br
2. %
Br
H3C



H3C
Br

4. %

Question Number : 198 Question Id : 59445943321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an IR spectra of 1-octyne and 4-octyne, the IR-spectra of 4-octyne does not have C=C stretch
absorption peak The reason for this observation is that

Options :

1. # Conjugation moves stretch to lower frequency

2. # 4-octyne reacts with KBr while 1-octyne does not

3. % 4-octyne has symmetrically substituted triple bond while 1-octyne does not

4. # 4-octyne is inactive in IR range whereas 1-octyne is highly active

Question Number : 198 Question Id : 59445943321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

-3 3T 4-31FE & IR TaeT A, 4-3 & IR-Ta¢r # C=C &ura

JaRiyUT TH-Tg ol gl g1 39 3fdcliehe] & HRUT Tg § [ |

Options :

1. % I g &1 &4 gy 9 o a1 g

2. % 4-3{{FH KBr & 1Y UfAfehar aT g Safh 1-3MTac i gl Rl g

3. ¢ 4-3{1qeH 3 guild U I feud snee (d1S) oI Ufawifid farar § Sieafes 1-3fadt= 3 781 fpar g
4. % 4.3ffgd 1R 90t & fAfepg B Safe 1-3ifedi= srafdes afra g

Question Number : 199 Question Id : 59445943322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



An IR-spectra is found to have a medium adsorption peak near 3400cm-!.
This corresponds to which organic compound?

Options :

1. # Esters

2. % Aldehydes

3. % Alcohols

4. ¥ Amines

Question Number : 199 Question Id : 59445943322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR-TY#gT & 3400cm” & 9T Us HegH ATORNEUT TRA-T6g (W) 937 ar g1 I8 hF sefes dife ¥ a« @ar 2
Options :

1. % T

2. % UfcEETES

3. % 3fchlgd

4. THH

Question Number : 200 Question Id : 59445943323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an 'H-NMR spectra three samples were examined. One being pure acetic
acid, other one pure water and a 1:1 mixture of acetic acid and water. The
number of peaks formed for each sample would be : -

Options :

1. #® 1,1,1 respectively
2. % 1,1,3 respectively
3. % 2,1,2 respectively
4. ¥ 1,1,2 respectively

Question Number : 200 Question Id : 59445943323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 201 Question Id : 59445943324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In nitration process, the reaction typically proceeds through a
Options :

1. # Anionic intermediate

2. ¥ Cationic intermediate

3. # Zwitterionic intermediate

4. ¥ Free radical intermediate

Question Number : 201 Question Id : 59445943324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ArecienRur ufehar §, Sififerar smy dR R & HIEgH 31 T 3
Options :

1. % T Heddl

2. ¥ BT HLTA

3. % fogeRaie Aerad!

4. % Tod IfSHa A

Question Number : 202 Question Id : 59445943325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Benzyl and allyl alcohols that can generate stabilise carbocations give
Friedel-Crafts alkylation products with mild lewis acid catalysts like
Sc(03SCF;)s. For reaction below, X will be

10% 5c{0509CFg)3
{ 115-120"C)

Options :

-0
1.¥



L % o — —— oH

Question Number : 202 Question Id : 59445943325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
sfarer 31T Telrer tedlge Al B FEfRAT 3c9ed & Thd 8, heo-HIFeH TeHISaIHIUl 3Gl &I gosh e
HFel 30R® AW Sc(0.SCF3); 2 &1 == & 715 #fofhar & fore, X e

@ 10% 5c{0503CF3)3
—<: !)— CHaOH +

{115 120"C)
Options :

X CH,

4 :: :: @

X £0oH
2. %

X

% oM
4, %

Question Number : 203 Question Id : 59445943326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :




Vertical
Correct Marks : 1 Wrong Marks : 0.25

Friedel-Crafts alkylation is a very important method for introducing alkyl substituents on an aromatic ring by generation of a carbocation or related electrophilic
species. Most common Friedel-Crafts catalyst for preparative work is

Options :
1. # T1C13

2. HO2
3. % Pij.'rH},

Question Number : 203 Question Id : 59445943326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
wwﬁmmw@agﬁﬁ%wﬁﬁ%mm@ﬁ%ﬁmwuﬁwﬁﬁ%ﬁ%ﬁ%mwﬁww
95 &) He@yUl I 3 | IR B % RIT a9 o fred- ey SaR® o

Options :

| = TiCls

2. ® HEOE
3 % Pt/H,

4 v AlCI

Question Number : 204 Question Id : 59445943327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diel's- Alder reaction is an example of with respect to both the alkene and the diene.
Options :



1. ¥ Stereospecific syn
2. % Stereospecific anti
3. # Regioselective syn

4. ® Regioselective anti

Question Number : 204 Question Id : 59445943327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIU- TeeR SN Tewb M IR SF G & gy | BT TP IR0 & |
Options :

1. ¢ LIRarORithe R

2. % LIRGURIhe &

3. % QfoERIcfdea R

4. % Srargafded ©é

Question Number : 205 Question Id : 59445943328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

p-Aminobenzoic acid and Sulfanilamide, both molecules have similar steric and electronic properties but p-Aminobenzoic acid is demonstrated to have reversing
effect on the antibacterial action of sulfanilamide. This is because of

Options :

1. % Different physiochemical properties
2. % Different physiologic pH of action
3. ® Different electronic properties

4. ¥ Different functional groups

Question Number : 205 Question Id : 59445943328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

p-THTSAISSISe 3T 3R Yol eSS, el el § TaM Qe 3R sdaeie 0 8 8, Al p-THISHISuIge 3] BT TehIAMSS &I
Gﬁﬁ@ﬁ%ﬁmw\mcmmusm%lw * HRUE|

Options :

1. % faf Wfderamafae o
2. % HRATR & fAfd N pH
3. % fafid gaaeie Tor




4. ¢ fafiF oIS I8

Question Number : 206 Question Id : 59445943329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Preparation of initial extract typically implements
Options :

1. ¥ Non-polar solvents

2. ¥ Polar solvents

3. % Supercritical fluids

4. ¥ Mixture of polar and non-polar solvent

Question Number : 206 Question Id : 59445943329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

URIN® 3 Bl TIRT 3MH IR W NIDERGIE
Options :

1. % IR-ydig faams

2. ¢ Ydig fadrs

3. % 3ffchifcie ga

4. % AT 3R IR-gdtg facmares o1 fiygor

Question Number : 207 Question Id : 59445943330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Benzoic acid and Glycine reacts in presence of Acyl synthetase to give
Options :

1. # N-acetylprocainamide

2. % Acylic acid

3. ¢ Hippuric acid

4. ® Salicylic acid

Question Number : 207 Question Id : 59445943330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sz 3 3R TaTsRM URYS Ridey &t Sufufa # 1 & forg Sifiifopar T B
Options :

1. ® T -UREeISAUGAHES

2. % Ufpfdie 3rd

3. ¢ fegRep 3

4. % IfIRITIE 3

Question Number : 208 Question Id : 59445943331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cholesterol lowering drugs are known as
Options :

1. # Alkaloids

2. ® Quinones

3. % Statins

4. ®# Anthraquinones

Question Number : 208 Question Id : 59445943331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prere el P B el el S e
Options :

1. % Tehdils

2. % M

3. ¢ wfeq

4. % DRfEM

Question Number : 209 Question Id : 59445943332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethylene when reacts with a mixture of TiCly and (CH3CH;):Al as a catalyst
produces the same product as that obtained when reacted in presence of
oxygen or a peroxide at high pressure. But application of both these products
are different. What is the reason for this?



Options :
Polyethylene produced with TiCly and (CH3CH3):Al as catalyst is much
L& higher in density than that produced by free radical polymerization

Polyethylene produced with TiCly and (CH3CH,)sAl as catalyst have different
, % structure as compared to that produced by free radical polymerization

Polyethylene made from TiCly and (CH:CH;)sAl as catalyst is less dense than
; % that produced by free radical polymerization

Polyethylene made from free radical polymerization disintegrates whereas
4 % polyethylene from TiCls and (CH:CHz)sAl as catalyst does not disintegrate

Question Number : 209 Question Id : 59445943332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 19 35S & ®F & TiCl, 3T (CH;CH.):Al & T&emr & |1y 3T&fsRar #3ar & ar 987 3918 3c9e] &4dl ¢
T == g I AT a1 WeEEs S Iuifiuta # 3@AfRar & W 9o giar g1 dfed 8 St 3cumer &
HFART 3TAT-3ET g1 THRT HROT FAT 872

Options :
3RF & T H TiCly 3 (CHyCH,);Al 3 T Scatfee dieiefelisr W Helew Sgerehiator anT Scaiie
| T A T A ©

2. %
3RE & A TiCly 3R (CH;CH,);Al 3 |TY Scaried ool & W1 el SgelehlendUl SaRT Scalicd sl Jefall
H 37T TT=T 2ar 2



3. %
3cHF & T A TiCly 3 (CHaCHy):Al B a7 dieiefeliar Y o agarehiatur ganT 3calfad & Jofel # &7 Jo
grar 2l

BT HeTeh Fgerehiator | et arefefyels faufea g smehr & s19f% 30w & &7 & TiCl, 3t (CH;CHy):Al &

4.

Question Number : 210 Question Id : 59445943333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In polymerization process of Ethylene, it is heated at high pressure in presence of oxygen or a peroxide. This process is known as
Options :

1. #® Cationic polymerization

2. # Anionic polymerization

3. # Coordination polymerization

4. % Free radical polymerization

Question Number : 210 Question Id : 59445943333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 TgAdIHU UishdT B, 3 SHTRiToM a1 TRIdaSs &1 JufRfd & I a1d IR T forar oIt § | 59 ufshar o & & H ST ST g |
Options :

1. % BHea-e® IgadIHRl

2. % 3P TgABIBRUI

3. % YUY IgADIDhRUl

4. ¢ oI Telch SgeIchIoh Ul

Question Number : 211 Question Id : 59445943334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reagent used for oxidation of trans-4-t-butylcyclohexanol to 4-t-butylcyclohexanone is
Options :



1 % KMnOg in Acetone
> % CrOs in Acetone
3 % KMnOy in alcohol

4 « H2CnO7 in Acetone

Question Number : 211 Question Id : 59445943334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

-4 AN RIS  4-t- SICTSAAS TR P HTRITHRUT & forg IuahT fopan s arer sifierie &l

Options :

|« TEEE #& KMnO,
, » THRE # CrO;
, » e # KMnO,

4 Tﬂ'-ﬁ?fl?-l' ﬁ- chrgo?

Question Number : 212 Question Id : 59445943335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The catalyst used for hydrogenation of Dicyclopentadiene to its tetrahydro product using a Parr apparatus is
Options :



) ® AlO:/Rh

3. % Rh-Pd/C

4 % BaHs

Question Number : 212 Question Id : 59445943335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T BT ITART B U CCERS! STG & ol SATSaUcel & gI3eIomIdhRul & Tt IUANT fahaT S aTal SSR® gl
Options :

| v PtOs/H,

, % AlLOy/Rh
;. % Rh-PdIC

4 % BaHg

Question Number : 213 Question Id : 59445943336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an electron doner zinc porphyrin was covalently connected to Guanosine and an electron accepting Quinone was linked to the cytosine were irradiated with
light at an appropriate wavelength, electron transfer occurred from zinc porphyrin to Quinone. This demonstrated which property of supramolecule?

Options :

1. ¢ Electrical connections can be achieved between molecular parts via non-covalent supramolecular interactions
2. # Dipole-Dipole moment is created between two metal centres

3. # Interconnected macromolecules in a supramolecule are weakly bonded

4. % Physical property of a supramolecule change with respect to the nature of bonds created in it



Question Number : 213 Question Id : 59445943336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S gaaeT QT i TIth R ) Wewaeie ¥ TR I SieT 77 U7 3R Saee U] [ &) W5t 3 Siiel T o, T Suged aii ool
IR UHTRI & 1Y fafh=Ora fovan ma o1, i Db § i 1 3aiaei RIMaRT g3l 39 YR & 69 01 &1 yefid faram

Options :

1. ¢ IR-JeUoTs JURATCHIE RER T & HIeIH § 3MUTfads YT & did faggd YU UTe far o IabdT §
2. % fgya-fgyq ool g i & Ao g g

3. % U IR H IRER IS J8qU HHOR ©0 I §Y 8ld &

4. % U GURAST BT ifaes o7 IuH FfHfa e (@) &1 uepfa & Yay o uRafda giar s

Question Number : 214 Question Id : 59445943337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In DNA, Guanine selectively interacts with Cytosine because
Options :

1. # Guanine does not form H-bond with Cytosine

2. # Guanine forms only one H-bond with Cytosine

3. # Guanine forms an ionic bond with Cytosine

4. % Guanine forms more stable triple hydrogen bond with Cytosine

Question Number : 214 Question Id : 59445943337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DNA ¥, T T2l & 1Y el ©U J URWRS a1 a1 § Fife
Options :

1. % T GISCIRM P 1Y H-36Y (8S) T8l ST 8

2. % M I3 & 1Y Had Tb H-3MMeY (S1S) I §

3. % TG YR & 1Y T SfAd 3MeY (J17s) §91dT 8

4. TG TZSIRA & 1Y 3w RR feudt grgsiom sey (@) 911 §

Question Number : 215 Question Id : 59445943338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The binding of oxygen molecules of a2f,- heterotetrameric haemoglobin is an
example of

Options :

1. ¥ Intermolecular Cooperativity

2. % Intramolecular Cooperativity

3. # Interannular Cooperativity

4. # Chelate Cooperativity

Question Number : 215 Question Id : 59445943338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

WPy~ BTN EHATANTST & HIFHIAA HUHT T A FT 3STL0T|
Options :

1. ¢ 3R-3MMUIfddH DR

2. % 3fc:3MTUTfdh TR

3. % SRS GBI

4. % TIC TP

Question Number : 216 Question Id : 59445943339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biosynthetic pathway leading to terpenes and steroids are

Options :

1. % Acetate pathway

2. # Photosynthesis

3. ® Amino acid pathway

4. ¥ Mevalonate pathway and methyltrythritol phosphate pathway

Question Number : 216 Question Id : 59445943339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
XU 3R WIS BT 3R q T qTel SlawiRase AR gl
Options :

1. % THice Urid




2. % YRG0l
3. % 3 TRrs und
4.+ TadHe UTYd 3R FrREadiiRieia hidhe urid

Question Number : 217 Question Id : 59445943340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An alkaloid containing an indole core and produced in living organism from the amino acid tryptophanis .
Options :

1. # Quinine

2. % Ephedrine

3. # Piperine

4. ¥ Bufotenin

Question Number : 217 Question Id : 59445943340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3USId PR Jad Uehails 3R 3T 3t fepith=T J Siifdd Siial # Idre g 8, a8 gl
Options :

1. % B

2. % Tl

3. % OIRURA

4. ¢ gHIcHA

Question Number : 218 Question Id : 59445943341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A terpenoid well known for its analgesic properties and responsible for the well known cooling sensation when eaten or applied to the skin, is produced by an
asymmetric synthesis. The process begins by forming an allylic amine from myrcene which undergoes asymmetric isomerization in the presence of a Rhodium
complex to give enantiomerically pure R-citronellal and finally cyclised by a carbonyl-ene-reaction initiated by ZnBr2 to isopulegol which is then hydrogenated
to give the pure terpenoid. The terpenoid is

Options :

1. % Camphor
2. % Menthol
3. # Citral



4. ¥ Limonene

Question Number : 218 Question Id : 59445943341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T RUAISS 30 THTealRidh 0T & fore Ufdyg SR STa 3 W11 a1 ol IR @I Tl § df Uiy Sftde aegar & forg fSmieR 8, U Sy
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Options :

1. ® PP

2. ¢ WA
3. % Rycd
4. % T

Question Number : 219 Question Id : 59445943342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Structure isoelectronic with naphthalene is
Options :

1. ¥ Furan

2. #® Pyrrole

3. # Imidazole

4. % Benzimidazole

Question Number : 219 Question Id : 59445943342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATele B 1Y gHS AT SR .
Options :

1. % T

2. % ORI

3. % sfirg™d

4. SfIfESTSA



Question Number : 220 Question Id : 59445943343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Furan has IT e- plus an unshared pair of oxygen sp2 orbital.

Options :
1. %2
2.% 4
3.6
4, % 8

Question Number : 220 Question Id : 59445943343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A= 1 e-SoI®@ FT deE=T sp2 e $ir wfFanfaa = &

Options :
l.% 2
2.% 4
3.6
4. % 8
Discipline?
Group Number : 12
Group Id : 594459968
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline?

Section Id : 5944591693



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591971
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 59445943344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the two statements given below, analyse for the following:

a) Pyridine and Pyrrole both are weak bases, but pyridine is much more basic than pyrrole.
b) Lone pair associated with nitrogen in Pyridine is entirely with nitrogen and not delocalised into the aromatic I system, whereas in Pyrrole unshared pair
belonging to nitrogen must be added to the 4I1 e- of 2 double bonds and thus is delocalised into the aromatic I1 system.

Options :

1. * Only a) is true

2. % Only b) is true

3. % Both a) and b) are true and b) is the correct explanation of a)

4. ¥ Both a) and b) are true but b) is not the correct explanation of a)

Question Number : 221 Question Id : 59445943344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. ® Wa)@%

2. % HIAb) TA §

3.+ 2) 3R b) T T § 3R b), 2) P! Tg! AR &

4. % 3) 3R b) T I § AP b), a) BT eI ARSI 781 )

Question Number : 222 Question Id : 59445943345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maltose, which is obtained by hydrolysis of starch and cellobiose are
Options :

1. # Monosaccharide

2. ¥ Disaccharide

3. # Polysaccharide

4. ® Sugar

Question Number : 222 Question Id : 59445943345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTeeio, S e SR YcIariiel 3 STefa faReioor gRT T foa wire &, gl
Options :

1. % THARDI

2. ¥ SRUINES

3. % GEHA

4. % QBT

Question Number : 223 Question Id : 59445943346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An enzyme X facilitates digestion of lactose and a deficiency of this enzyme makes it difficult to digest lactose causing abdominal discomfort. Enzyme X is

Options :
1. # Sucrose
2. % Cellobiose

;3 % o-glucosidase



4 « P- glucosidase

Question Number : 223 Question Id : 59445943346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 224 Question Id : 59445943347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound X is a thiol; its chain terminates in a (-SH) group. Acetylation of the sulthydryl group of compound X gives acetyl coenzyme of Compound X.
Compound X is .

Options :

1. # Acetyl ester

2. % Coenzyme A
3. # Carbohydrate
4. ® Fatty acid

Question Number : 224 Question Id : 59445943347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

QH X A §; 39! 4T (-SH) THE T THT 8l 81 Td X & Tehelsaid g & URIfeaidmul § AH X BT TRICEd HgHidhud U gidl g |




i X gl
Options :

1. % TRyersd 3%

2. ¢ YgYfdbUd A

3. % HEGIESC

4. % 94T 3k

Question Number : 225 Question Id : 59445943348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anion exchange chromatographic methods at high pH (>12) with sodium hydroxide or sodium hydroxide / sodium acetate solution as mobile phase is applied
usually for

Options :

1. * Anions

2. # Sugar

3. # Proteins

4. % Carbohydrates

Question Number : 225 Question Id : 59445943348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

aifzaw gEsieass ar Aiftgw gegieaes /[ Aftar vdee fTowa & 9 3=9 pH (>12) W wonas
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Options :

1. % FOMH

2. % T

3. % gIdH

4. ¥ BEEEIC

Question Number : 226 Question Id : 59445943349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analyse the below statements tor the van-Deemter equation, I) HETP = A +
Bu + C/u. II) Keeping a tubing system of =0.12 mm internal diameter is ideal.



Options :

1. % Both I) and II) are true and I) is the correct explanation of II).

2. % Both I) and II) are true, But I) is not the correct explanation of II)
3. % Only I) is true

4. ¥ Only II) is true

Question Number : 226 Question Id : 59445943349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-8y AT & T A9 fRw v wuat s oot w1, 1) HETP = A + Bu + C/ul 1) =0.12 mm 9=
TH T ey RAved @ e g

Options :

1. % 1) 3R 11 g T 8 3R 1), 11) B T&t TSN g |

2. % 1) 3R 1) SF II 8, AfB 1), 11) P I8! AR T8l ©
3. % A ) JI B

4. ¥ FIA ) TA G

Question Number : 227 Question Id : 59445943350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a separation technique, the choice of solvent for separation is n-hexane mixed with isopropanol running over silica packed column. This technique is

Options :

1. # Column chromatography

2. ¥ Normal phase liquid chromatography
3. ® Reverse phase liquid chromatography

4. # Jon-exchange chromatography

Question Number : 227 Question Id : 59445943350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TUFHIUT TR H, JUFOT F OT Fewe # BeeT n-dewa A Rfee 9% wew W Te w®
NS & J1 BB ¥ a7 T gl




Options :

1. % Py guicra_

2. ¢ IR el G qUieia
3. % Rad il %9 quickes
4. % 3myA-fafmy guferaq

Question Number : 228 Question Id : 59445943351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The normalised wavefunction for the lowest energy electron of a carbon
nanotube of length L can be described as (2/1.)!2 sin (ITx/L). What is the
probability of finding an electron between x=L/4 and x=L/2?

Options :

1. % 50%

2. % 100%

3. % 50.20%

4.9 41%

Question Number : 228 Question Id : 59445943351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
oo L & Fe AAICgs & TIH FH FAT SolFeld & o0 @HAENGT a2 FFar & (2/L)'7 sin (L) & & &
It o =T F@ear 21 x= L/4 3T x=L/2 & &= soraea e i wifdear #ar 22

Options :

1. #® 50%

2. % 100%
3. % 50.20%
4.9 41%

Question Number : 229 Question Id : 59445943352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The probability of system A having energy range of E to E+6E is written as

Options :
| % P(E)=C O(E) Q(EY)

,» ¢ P(E=C Q(E) Q(E-E)
3. % PE=COQE) /Q(E)

4 % P(E)= CQE) /Q(E"-E)

Question Number : 229 Question Id : 59445943352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

E & E+SE g & Far I arel g A & gifidekar F ¥ # o = 2

Options :
| » P(E)= C Q(E) 0'(E))

, » P(E)= C Q(E) Q'(E™ E)
, % P(E)= C QE) /Q'(E")

4 = P(E)= C QE) IQ'(E"-E)

Question Number : 230 Question Id : 59445943353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one holds true for an irreversible process?
Options :



1.v Q2L
) 8% Q>0
3 % Q70

4, % Q0

Question Number : 230 Question Id : 59445943353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T SURTHIE UfohaT & oY 9 2

Options :
v 20

5w Q>0
3w (0=

4 % 070

Question Number : 231 Question Id : 59445943354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2 systems A and A' having initial energies E; and E;' respectively are
thermally related and are subsequently placed in thermal contact by attaining
respective final energies Ef and E#', following a special case where initial
energies lie very close to the final mean energies, which one holds true?
Options :

L.YQ+Q=0

2.%Q+Q>0



3.%8Q-Q'=0
4.%Q-Q=0

Question Number : 231 Question Id : 59445943354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 2 T A AT A # FAN: URA® FAT E AT E AT ol &7 @ mefag § sk a2 &
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Options :
LeQ@+Q=0

,x @ +Q>0
s xB-@ =0

Ix@-0=0

Question Number : 232 Question Id : 59445943355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pt|X;|X- corresponds to which type of electrode?
Options :

1. ¥ Metal/metal ion

2. % Metal/insoluble salt

3. # Calomel

4. ¥ Gas

Question Number : 232 Question Id : 59445943355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YTd/UTd S

2. % YT/SYAIRITS AUl
3. % Hamd

4.9

Question Number : 233 Question Id : 59445943356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is true for electrochemical series?
Options :
(AgT/Ag) is the more strongly reducing as compared to (Zn®"/Zn) and (Ca?*/Ca)
| % Is least reducing

(AgT/Ag) is the less strongly reducing as compared to (Zn?"/Zn) and (Ca?7/Ca) is
» « nost reducing

(Zn**/Zn) is more strongly reducing than (Ca**/Ca) and (Ag™/Ag) is most
5 w strongly reducing

4. # All redox couples have similar reducing ability

Question Number : 233 Question Id : 59445943356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I B faggaRaEe 40 b fRuaa &

Options :

|« (Ag'/Ag), (Zn*"/Zn) #r o # A0F gaw HI=EE g HR (Ca’/Ca) Had & 3990 &

, o (Ag'IAg), (Zn*'IZn) & FoAAT FH FF FIT HIATSF g AT (Ca’'/Ca) 3#0& Faar HI= TS &

. (Zn*/Zn),(Ca*"/Ca) & Joral & 3% TE IT=mdr § 3R (Ag'/Ag) WaW TT HI=T &



, « T ETFE ST F TES AR SHaT g §

Question Number : 234 Question Id : 59445943357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Michaelis-Menten equation for macromolecular crowding is given by
Options :

| Vo= Vinx [SolKart [Sel
2. V0= Vmax [SG:EKM' [S'ﬂ
3 % Vinaz= Vo [SGIKP-I" [Sﬂ]

4 % Vma= Vo [So]Kar- [So]

Question Number : 234 Question Id : 59445943357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TPHIIHIER PSS & U Agsfeg-dciafiar . gRifean gl
?PSOZSD-: Vinax [SolKut [So]
5 % Vo= Vmax [So]Ku- [Sq]
3 % Vmax™ Vo [SolKut [So]

4 % Viax™ Vo [So]Ku- [S]

Question Number : 235 Question Id : 59445943358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

When macromolecular crowding increases, the chemical potential of protein
Options :

1. ¢ Increases

2. % Decreases

3. # Remains unchanged

4. # TInitially increases then decreases

Question Number : 235 Question Id : 59445943358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

STe HepHICTRIER ShT3TST §¢ STl 5, ol UIEH o1 IR & gl
Options :

1.« ggat

2. % gedt

3. % 3uRafdd gt

4. % Ugdl gl & bR e

Question Number : 236 Question Id : 59445943359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a molecule, molecular ion peak appears at m/Z = 102, IR spectrum shows a
strong adsorption at 1740 cmrl, 1200 cm! and around 3000 cmr!. Index of
hydrogen deficiency = | and 13C NMR spectrum has a total of 5 peaks What is
the molecule?

Options :

1« CH;-CH>;-CO-0O-CH>-CHj;

) ® CH;-CH>;-CO-CH:-CH;
3 ® CH:;-CHO-CH:>-CH3

4. % CH;-CH>-CH;-CH;



Question Number : 236 Question Id : 59445943359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3O & forw, HUEe a9 m/Z = 102 X 9He @ 8, IR T9egH 1740 cm,
1200 cm '3 em™ W T FAgd HTAAWOT @A g1 RIS AT I FIhH =
AT 3C NMR Feed & o 5 9% § 3] 7 82

Options :
|« CH3-CH,-CO-0-CH,-CH;

, % CHy-CH,-CO-CH,-CH;
5 x CH3-CHO-CH,-CH

4 % CH3-CH,-CH,-CH;

Question Number : 237 Question Id : 59445943360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TMS is a universally preferred NMR reference because
Options :

1. # It contains silicon

2. ® Tt is a non-polar structure

3. % The carbon is more asymmetric

4. ¥ The protons are better shielded

Question Number : 237 Question Id : 59445943360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TMS IS FU J gidier NMR ey § wifer

Options :



1. % 30 Rifdep gaT g

2. % g TR-Yar AT 8

3. % PHIa- AfYH AT g

4. ¢ el gk a8P T e 81a &

Question Number : 238 Question Id : 59445943361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

XRD peaks are produced by of a monochromatic beams of X-rays scattered at a specific angles from each set of lattice planes in a sample.
Options :

1. # Destructive interference

2. % Constructive interference

3. # Diffraction

4. % Absorption

Question Number : 238 Question Id : 59445943361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

XRD W& T T H Sas JHdd! & Tdd I9g I fafR1y $ivr R favay gu x-fHrull & uawmaui fiq & R AT g B
Options :

1. % Yldeh ATdDHRUl

2. ¢ AR s

3. % fagcH

4. % 3TN

Question Number : 239 Question Id : 59445943362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Onsager symmetry postulate,
Options :

| 814/8Xq = 81g/3X,



s % 01g/dTy = 0Xo/0X,

4 % 018Xq=1

Question Number : 239 Question Id : 59445943362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR FHRUT STNYRUN & YR,
Options :

| o 8JJJ0Xa = BJo/AX,

L« 8J5/8X, = 8Ja/0Xq
, » 8Ja/ddy = OXo/0X,
4w 8J/0Xg = 1

Question Number : 240 Question Id : 59445943363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time scale of particle motion using the particle relaxation time is defined as
Options :

1. % TF'Z m-'rE

2. R = mxB

5w Tp= 0/0T(mxp)

4. % W 2mp



Question Number : 240 Question Id : 59445943363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

HUT FIYTH T BT JUTIT B U BT TS b JHY TR Bl & =u § uRyTia fvar man B
Options :

v .= m/p

2. % T~ B

= 6/6T(mxp)

3. %
4% TS 2mp
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Question Number : 241 Question Id : 59445943364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lewis number is the ratio of

Options :

1. ¥ Molecular diffusivity of momentum to molecular diffusivity of heat
2. # Molecular diffusivity of momentum to molecular diffusivity of mass
3. ¥ Molecular diffusivity of heat to molecular diffusivity of mass

4. # Molecular diffusivity of mass to molecular diffusivity of momentum

Question Number : 241 Question Id : 59445943364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

GERRIREs| BT U 5|

Options :

1. % SHOAT I TP [TURURAT & T T &1 3Mfvge forosfadr

2. % GO & 3UIfdd [URURNAdT o ot Fa ot 3Murfad faeRorfiedr
3. ¢ GO & 3UIfdeh faaRuRNaar o ot ST & sfrurfdes faaRur=iterdn
4. % YT o 3TUIASP faERURNEAr o ol Go0HM &1 3MTUMddh faaRuRiTadrn

Question Number : 242 Question Id : 59445943365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
At a certain wavelength, the fluorescence quantum yield and observed

fluorescence lifetime of Tryptophan in water are ©r= 0.20 and 1o = 2.6 ns
respectively. Rate constant will be equal to

Options :
1 % 0.52%107sl



) o 1.7 %1075
3 % 13x 1091

4 % 0.52% 10751

Question Number : 242 Question Id : 59445943365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

s AfRag aeRer W, 9= & frethe fr 9T saes 39 3 e e or iRy Sedwre AT
®e= 0.20 3T v, = 2.6 ns g T TR % e Eem

Options :

| % 052 x 107 s

» v 7.7 x 107 &7
3 % 13 x 107 &7

4 % 052 x 107 s

Question Number : 243 Question Id : 59445943366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electron energy transfer for an excimer formation is correctly shown as
Options :

1| ® 8*¥+S—> 85+ 5%

) % S*+S8*>S+8



3 % S*8—§-S*

4 o S*H8 — (88)*

Question Number : 243 Question Id : 59445943366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH TRIER 7T & AU a1 Soll gediarul ol & =0T g &1 3 fearn m B
Options :

)% S+ 5+ -85+ 85
3 % S5 — 5 - S+

4 Syts — (55)s

Question Number : 244 Question Id : 59445943367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

State whether true or false: "The entropy of an isolated system tends to decrease with time.'
Options :

1. #® True

2. ¥ False

3. # True Only at time ~ 0

4 % False 'Only at time t=0c

Question Number : 244 Question Id : 59445943367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y {3 o1 T § 1 7Ted: ‘T fAafia d St Terdt JHg & 1Y gedl Sl g



Options :

1. ¥ Jd

2.9 3G

3. % g had 7T ~ 0 TR

4 % 3O 'HaT FAT t = 0 W

Question Number : 245 Question Id : 59445943368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the statements below, analyse the options given:
a) Ab initio calculations are relatively slow.
b) Ab initio calculations are based on Schrodinger equation.

Options :

1. # Both a) and b) are true and b) is the correct explanation of a)

2. ¥ Both a) and b) are true but b) is not the correct explanation of a)
3. # Only a) is true

4. ® Only b) is true

Question Number : 245 Question Id : 59445943368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu U wyEl & forg, fau e fow el &1 fagawor &3

a) YRS U 3diapd heft 1

b) TR TUMT NFETR THHRT TR 3R B |
Options :

1. % 2) 3R b) GFI T & 3R b), 2) P! Ta! TS §
2.+ 2) 3R b) A T § TG b), 2) P! Te! AR T8l &
3. % %ﬂa)w%

4. % PIdb)IId 8

Question Number : 246 Question Id : 59445943369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The best STO-IG approximation to hydrogen and helium respectively are: ®(H) = ®; = 0.396 exp(-
0.4166[r-R;[2); ®(He) =®; = 0.5881 exp( -0.7739|r-R3/?). The larger constant in the Helium exponent as
compared to that of hydrogen is because of i

Options :

1. ® Higher size of Helium

2. # High atomic number of Helium as compared to Hydrogen

3. " In Helium, electron is bound more tightly to its double charged nucleus than in Hydrogen

4. % In Hydrogen, the stability of its molecule is lower than that of Helium

Question Number : 246 Question Id : 59445943369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

grEsa 3T ffeas & T 98 =01 STO-IG ieasea FA: ©(H) = &, = 0.396 exp(-0.4166|r-R:|?) ; ®(He)
=®, = 0.5881 exp( -0.7739|r-R,[*) & | g38=ar &1 gora1 & fgforaw arars & a1 emrs & HroT
Options :

1. % f3feraw &1 3= SR

2. % GISSIoM &I a1 | feferad &1 I= TRy T

3. RRforam O, Sdiae gIgg oM &1 qaHT | 30 Glex TAfRId AN § 31fid Hofed! 9 §u1 8id1 8

4. % gIZSIoM H, 3% 310] Bt fRRa fEferam &t ga & & gt 8

Question Number : 247 Question Id : 59445943370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analyse the below statements:

a) AMI and PM3 C-H bond lengths are almost always (AMI) or tend to be (PM3) longer than experimental by
approximately 0.004-0.025 (AMI) or (0.002 A(PM3).

b) Of AMI and PM3 neither has a clear advantage over the other in predicting geometry.

Options :
1. % Both a) and b) are true and b) explains a)
2. ® Both a) and b) are false



3. % Only a) is true
4. % Only b) is true

Question Number : 247 Question Id : 59445943370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jrr T 71v Fuat Fr Fewr s

a) AMI 3T PM3 C-H 1T (S7=3) I TaS o°1eeT gAem (AMI) 2 & I1 S3eTeH® & o=re9eT 0.004-
0.025 (AMI) 7 (0.002 A (PM3) ¥ 3ifeer (PM3) =& gt 3
b) SR #T [@-F=a & # 7 AMI # 3R 7 & PM3 &1 TF ga W FI5€ a1 g

Options :

1. ¢ a) 3R b) T T § 3R b), a) B! RS HIAT &
2. % ) 3R b) THI 3T &

3. % $dda) A G

4. % Hadb) IId g

Question Number : 248 Question Id : 59445943371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particle in a box possesses an irremovable minimum energy called the
Options :

1. # Transition-state energy

2. % Barrier energy

3. # Transmission energy

4. % Zero-point energy

Question Number : 248 Question Id : 59445943371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S B fRyd w01 H Rt g=aw S gl | o FHEI AT gl
Options :

1. % URGAT-3aRIT Sl



2. % FIYT SOl
3. % GeRU SHoll
4. ¢ -fdg ol

Question Number : 249 Question Id : 59445943372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instantaneous rate of consumption of a reactant formation of a product is the slope of tangent to the graph of
Options :

| [J vst

) u tvs|]

3. % [Jj/tvs t
4. % _Jvst

Question Number : 249 Question Id : 59445943372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

) Sare & SifieRS AT Y Wud & diebifes e & UTh b WIRGT BT gA 8 |

Options :
[« Ml vst

t vs |J]

2. %

5 = Wt vs t

4. % -J vs t

Question Number : 250 Question Id : 59445943373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



For a reaction with rate law V= k; [A][B]?, if reactant [A] is present in large
excess of concentration and it remains constant throughout the reaction then the
order of the reaction will be

Options :

1. # First order reaction

2. % Second order reaction

3. # Pseudo-first order reaction

4.+ Pseudo-second order reaction

Question Number : 250 Question Id : 59445943373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Wy ww w@GRI V= ko [A]B] F R, afy sffens [A] @igar & afvw @ A wisg ik mw
Hiefrar & ghua fEaw ar ¢ ar sf@fear & sife gt

Options :

1. % TYH Bife 3ifHichar

2. % fgcia pife siftiferan

3. % gEI-uyH Hife sififorar
4. geI-fgdra dife sifferan

Question Number : 251 Question Id : 59445943374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh AR UET U] ST 8.3 pD & efEiy &f0r & 9ed e & fow 9 &9 § g & e
g1 3707 FT gg=T H

Options :

1. % CO;,

X C.H,

3 % CaHs



4 SiH,

Question Number : 251 Question Id : 59445943374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A spherical rotor molecule becomes sufficiently distorted for it to acquire a
dipole moment of about 8.3 uD. Identify the molecule.

Options :

1% CO

2. % CZH-i
3. % CﬁHd

4 v SiH:

Question Number : 252 Question Id : 59445943375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radiation of wavelength 280 nm passed through 1.0 mm of a solution that contained aqueous solution of the amino acid tryptophan at a molar concentration of
0.50 mmoldm-3. The intensity is reduced to 54% of its initial value. The absorbance and molar coefficient will be

Options :
| % 054,54 =10 do’mol'mm!

5 « 0.27,5.4 x 10* dm’mol-'mm-!
3 % 1,2.7 %102 dm’mol-'mmr!

4 % 036,54 %102 d’mol'mm-!



Question Number : 252 Question Id : 59445943375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e 280 nm T fAHRUT, FITTT F 1.0 mm J SR ToRaT & FORIH 0.50 mmoldm-3 Bt HITR Figdl UR Y 3 fPIth &1 Sl faaa gl |
Frerdr dI U URMANE Go & 54% qb U faT ST § | AT 3R HieR 0Tid =uil

Options :
|« 0.54, 5.4 x 10> dm’mol'mm’’

, « 0.27, 5.4 x 10° dm’mol'mm
; % 1, 2.7 x 10° dm’mol’'mm’’

, « 0.36, 5.4 x 10> dm’mol”'mm

Question Number : 253 Question Id : 59445943376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cubic unit cell has pointing to the corners of a tetrahedron.
Options :

1. # 3 threefold axes

2. % 4 threefold axes

3. % 1 twofold axes

4. % 2 threefold axes

Question Number : 253 Question Id : 59445943376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH T gfe Ia BId & S IhAD! & HIFl Bl 3R SR FRAT 5|

Options :

1. % 3 il TR
2. ¥ 4 YIS TR
3. % | Thice TRy



4. % 2 fipics TR

Question Number : 254 Question Id : 59445943377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Separation of {123} and {246} planes of an orthorhombic unit cell with a = 0.82 nm, b = 0.94 nm and ¢ = 0.75 nm are and
Options :

1. # 0.11 nm ; 0.21 nm respectively
2.4 0.21 nm ; 0.11 nm respectively
3. % 0.21 nm ; 0.21 nm respectively
4. % 0.11 nm ; 0.11 nm respectively

Question Number : 254 Question Id : 59445943377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A = 0.82nm, b = 0.94nm 3R ¢ = 0.75nm F TA=GST IfAC F F {123} 3N {246} FaE H
J2rFHIT, 3R gl

Options :

1. % HHR:0.11 nm ; 0.21 nm
2. % HHR: 0.21 nm ; 0.11 nm
3. % PHR:0.21 nm ; 0.21 nm
4. % DU 0.11 nm: 0.11 nm

Question Number : 255 Question Id : 59445943378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement about Miller notation is/are true?

a) Negative indices are written with a bar over the number.
b) The notation (hkl) denotes parallel planes with identical spacing

Options :

1. ¥ Only a) is true

2. % Only b) is true

3. # Both a) and b) are true
4. # Both a) and b) are false



Question Number : 255 Question Id : 59445943378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IpdT & IR A DI JT HYT I 2/8?

a) BUTHAS YAG D] BI T & HUR T TR & 1Y forar Sran g |
b) 37T (hkl) THM 3fcR T GHMICR I8 & GTal §

Options :

. ¥ $dd 2) TA

2. % Hadb) I

3. % 2) 3R b) AN IS

4. % 2) 3R b) IHI 3T &

Question Number : 256 Question Id : 59445943379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A macromolecule chain with N = 100 and 1 = 150 ppm is in three dimension. The probability that the ends will be found in 10.0 pm at 3.00 nm distance will be

Options :
1. % 1.92x10%
2.4 1.92x103
3.% 1.92
4.% 192 %107

Question Number : 256 Question Id : 59445943379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

N =100 3R L = 150 ppm & T T JgU] Yl i Sl & g1 T8 Wiiedl {5 RR 10.0 pm TR 3.00 nm 31 R i, =uil
Options :

| = 1.92 x 10

, » 1.92 x 107

;% 1.92



4 % 1.92 x 107

Question Number : 257 Question Id : 59445943380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The probability distribution for a 3D random coil is given by
Options :

| L= 4IL@/TII!2) e
5w f(r)=4IK a/I)? rle2T™
3 % H(O)=( 2/TIN)!2ewi2N

4 % f)=(2TIN)e=

Question Number : 257 Question Id : 59445943380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D YSH ST P fore YuTeuar faaror FRIERIRSIGI]
Options :

| v ()= 4n@m'?)?® e

, « f(r)= 4n(a/m)® re”"

3w f()=( 2/MN)Pe™™

4 % f(N=( 2mN)e™™



Question Number : 258 Question Id : 59445943381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sample of mixture of molecules with various chain lengths and molar mases constitute
Options :

1. ¥ Polydisperse polymer

2. ®% Monodisperse polymer

3. # Peptide

4. ¥ Protein

Question Number : 258 Question Id : 59445943381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafr sRaa AT 3R HIeR Soa@ ard S & A1 &7 T T HT 69 HAT 8|
Options :

1. ¢ Ul ST uiferR

2. % AHITSTY UferR

3. % UPIgS

4. % YidA

Question Number : 259 Question Id : 59445943382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
If pure ribosomal preparation from E-coli is sedimented at a high Mg**
concentration, the preparation sediments gives
Options :
1. # 2 peaks of 30s and 50 s enclosing more area
2. % 3 peaksat 70s, 50 s and 30 s
3.% 1 peakat70 s
4. ¥ No peak at all

Question Number : 259 Question Id : 59445943382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ifg E-Fiel & & TsEEHT da F 39T Mg®” WEaT W 3aaTed far aar 8, ar I fRar s
&ar gl

Options :

1. % 30s 3R 50 s P 2 Ui 3HfUH &7 BT el §
2. % 70s, 50 s 3R 30 s W 3 W

3.4 70 s 1 Ule

4. % B Wb T8l

Question Number : 260 Question Id : 59445943383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound used as intercalating agent is

Options :

1. # SDS

2. % CsCl

3. % EDTA

4. % EtBr

Question Number : 260 Question Id : 59445943383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fda= BHe b =0 H IULIT fhar S arer Aifiis gl
Options :

1. ®# SDS

2. % CsCl

3. ¥ EDTA

4. ¢ EtBr

Discipline9
Group Number : 14
Group Id : 594459970
Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline9

Section Id : 5944591695

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591973

Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 59445943384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A protein has a sedimentation coefficient value of 3.12 x 10-1? sec in water. Its
diffusion coefficient in water is found to be 8.2% 10-" cm¥/sec. Both the above
values are for 20°C in water. The partial specific volume of protein is 0.735 and
density of water at 20°C = 0.998. The molecular weight of protein is

Options :

1. ¥ 34800
2. % 16200
3. % 33700
4. % 32700

Question Number : 261 Question Id : 59445943384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

qll # ST @ IFEHEA U A 3.12 x 107° sec AT g1 G # SHET [FEIOT UM 8.2x 107 cm/sec WrAT
AT gl FTEF Gl AT 9= # 20°C & T g1 9 & ¥ Fffrse smaas 0.735 § 3R 9% @1 ueed 20°C
= 0.998 g S FT 0TS HX gl

Options :

1. ¥ 34,800
2. % 16,200
3. % 33,700
4. % 32,700

Question Number : 262 Question Id : 59445943385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Lennard-Jones potential between pairs of non-bonded neutral atoms or molecules is given by
Options :

| v V(1) =4e[ (o/1)- (a/r)f]
2. % V(r) = 4¢[ (o/1)12+ (o/1)9]
3. % V([‘} = "48[ (l'l."lﬁ:}ll_ {I'-"I.G}ﬁ]

4 % V()= -45] (1/0)2+ (t/0)f]

Question Number : 262 Question Id : 59445943385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR-ATSTIT o'y TRATYSN AT (Ui & SIS & did ATe-Sig & RIS 5

Options :
o V(1) = 4¢] (olr)'- (olr)]



5 % V() = 4e (oln)+ (o/n)°]
s % V(1) = -4¢[ (rlo)' (rlo)°]

-4g[ (rlo)"*+ (rfo)]

4 % V()

Question Number : 263 Question Id : 59445943386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is true for SC-2 clean procedure for initial cleaning of wafer IC fabrication?

Options :

1. ¥ The wafer is degreased using acetone, isopropyl alcohol and ultrapure water

2. %

The wafer is exposed to a 10:2:1 D/W:H,0,:NH4OH solution at 75°C followed by a UPW rinse

3. ¥ The wafer is exposed to a 10:2:1 UPW:H,0,:NH4OH solution at 75°C followed by a UPW rinse

4. % Nitrile gloves and Teflon tweezers are used to handle the wafer during treatment

Question Number : 263 Question Id : 59445943386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIF T IHT IC Figmee Fr ITAF o & T SC-2 == v + T g7 272

Options :

| x THIEH, NI ewgd A LA T HT ST b IBT HI TS AT ¢

I%T &I 75°C 9T 10:2:1 D/IW:H,0,:NH,OH o= & e 35er f&Rar amar § 3t 339+ s
UPW e f&Fam sar 2

2. %



IHT F 75°C 9T 10:2:1 UPW:H,0,:NH,OH oo & T 33er &Rar amar £ 3t 385 a1

3JUPWE'?HF|'%'JTEI1T-|T%

, % 39UR & SRS I H FAGA & [T AR grae AR vt RS F s ey S g

Question Number : 264 Question Id : 59445943387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instrument that makes use of the current due to electrons that tunnel between the surface and the tip is called
Options :

1. * Transmission electron microscopy

2. % Atomic force microscopy

3. % Scanning tunnelling microscopy

4. ¥ Scanning electron microscopy

Question Number : 264 Question Id : 59445943387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig ISR Sl Yag 3R RR F ol &t e9d A SageHl & HRUT HIC BT SUAN BT §, HET AT g |
Options :

1. % U907 3l EHeRH

2. % RHMOIS g GeAG el o

3. ¢ 3{JAIp e Jera il o

4. % BT 3G YeHaR I

Question Number : 265 Question Id : 59445943388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR YA F oI S T HYT T4 82

a) SATIRNYUT TH &R T TR & Iha g |
b) TR BT FHTGHT THIY TSl & FHool F WA § AT AN SHU[3T & o iy IRERHAT Ta ¢ |

Options :




1. % 2) 3R b) I TA S
2. % ) 3R b) TFI 3T &
3. % Wa)ﬂa%
4.+ HIAb) TAE

Question Number : 265 Question Id : 59445943388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement(s) stands true for Langmuir isotherm?

a) Adsorption can be monolayer or multilayer.
b) The probability of adsorption is independent of the occupation of neighbouring sites i.e. there is no interaction between adsorbed molecules.

Options :

1. % Both a) and b) are true
2. # Both a) and b) are false
3. % Only a) is true

4. % Only b) is true

Question Number : 266 Question Id : 59445943389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

X-ray diffraction utilises electrons of energy range
Options :

1. ® 200-2000 eV

2. % >2000 eV

3. % 10-200 eV

4, % <10eV

Question Number : 266 Question Id : 59445943389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

X=X f3gd=, Suif T P ZATCIl BT IYTNT FRAT B |

~

Options :

1. % 200-2000 eV
2. % >2000 eV

3. % 10-200 eV



4. % <10eV

Question Number : 267 Question Id : 59445943390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalysts functionalised with siloxane anchors can be attached to SiO; nano
particles via [Si]-O-M links involving surface silanol groups. This arrangement
benefits in

Options :

1. # Achieving better catalytic yield

2.+ Relatively easy separability of catalyst

3. # Enhancing reactivity of Nanoparticles

4. # Decreasing the reactivity of a reaction

Question Number : 267 Question Id : 59445943390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

foeleas Tet & @y framefer 3ot & Adg AemEe gqg @ 3 [Si]-0-M o & At & Si0, o=t Foi &
ST ST HFAT g1 TS TIEAT H omefead 2T 2l

Options :

1. % S8R AR 3T U BT

2. ¢ IARD B SUETHA A Gl

3. % NS0 o1 gfafsrariaar sem

4. % U& AN ot ufafcsariiadr gerr

Question Number : 268 Question Id : 59445943391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalyst used for heterogenous electrolysis for water oxidation are
Options :

1. ¥ Nickel oxides

2. # Platinum (finely divide)

3. # Siloxanes



4. ¥ Palladium complex

Question Number : 268 Question Id : 59445943391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

O & SHiRfe0T & fore faws fagga sroeed & forg STt fart SH aTd SaR® gl
Options :

1. ¢ Fod sliegs

2. % wifeqw @RI fauifora)

3. % Rydi

4. % ASTH IR

Question Number : 269 Question Id : 59445943392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shape selective catalysts are called
Options :

1. # Silanols

2. # Enzymes

3. ¥ Zeolites

4. % Colloids

Question Number : 269 Question Id : 59445943392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR TIIED ISR B CIATICIES
Options :

1. % Ty

2. % YU

3. ¢ frsfiege

4. % Dl

Question Number : 270 Question Id : 59445943393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Materials possessing both amorphous and polycrystalline behaviour with abrupt changes in crystal orientation across individual grain boundaries in the extended
lattice are

Options :
1. # Silicates
2. # Carbenes
3. # Glass
4. % Ceramics

Question Number : 270 Question Id : 59445943393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

maﬁﬁﬁ &gﬂwm@mﬁﬁm ST & 3 (319Y) URadd & I1Y Sifhead 3R Uraiifshicdis sadgR giHl [a- areit
I

Options :

1. % f¥fere

2. % FHIa

3. % Pg

4. ¥ GRIDIRI

Question Number : 271 Question Id : 59445943394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ceramic having molecular formula Caio(POs)s(OH): is used for bone grafting.
It is stable in pH range of 5.5-7.2. Decomposition of this compound results in
Cas(POy), which dissolves more rapidly in body fluid than the crystalline
compound. The ceramic compound is

Options :

1. # Calcium sulphate

2. % Alumina

3. # Zirconia

4. ¥ Hydroxyapatite

Question Number : 271 Question Id : 59445943394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



ey oo & e sorfas g3 Caqg(PO,)s(OH), It JiederRreT &1 394t fFar Jmar &1 I8 5.5-7.2 & pH @&
# T &1 @ 4= & 39ued & Cay(PO,), Wea giar & = fheeew diffe i goam & 2R F Few & 31foe
e @ g AT @1 gieawteT gt gl

Options :

1. % BT dethe
2. % UG

3. % TR

4. ¥ g3 SIRIUUCTSC

Question Number : 272 Question Id : 59445943395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A common method used to grow a single crytsal where the non-solvent is layered on the top of crystallisation solvent is called
Options :

1. % Vapour diffusion

2. # Interfacial method

3. % Sublimation

4. ¥ X-ray diffraction

Question Number : 272 Question Id : 59445943395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Uhdl fohed ol ST & U SEIHTA b1 S aTel! Ueh AT ffY S8t fopeeaiianur faeae & iy iR TR-f3eae WRd gidT g, P gl
Options :

1. ¢ a9 TR

2. % 3BT fafy

3. % I 9 DI foba

4. % Tag -X faadq

Question Number : 273 Question Id : 59445943396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HgS possesses a packing scheme.



Options :

1. ® BCC

2. # Cubic centre
3. % FCC

4. ¥ Rhombohedral

Question Number : 273 Question Id : 59445943396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HgS & U™ YfHT T gl
Options :

1. ¥ BCC

2. % T hHg

3. ¥ FCC

4. % HAIESIA

Question Number : 274 Question Id : 59445943397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Density of HDPE is
Options :

| % 0.91-0.92 glem?
) 0.941-0.965 g/cm?

5 % 0.86-0.90g/cny

4% > lg/cm?

Question Number : 274 Question Id : 59445943397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HDPE &1 9@ gl



Options :
| = 0.91-0.92 g/cm’

, » 0.941-0.965 g/cm’
, % 0.86-0.90g/cm’

4% > 1g/em’

Question Number : 275 Question Id : 59445943398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modern materials formed from the hydrolysis of chlorosilanes in the presence of water is called
Options :

1. ¥ HDPE

2. % LDPE

3. ¥ Polydimethylsiloxanes

4. ¥ Carbosilanes

Question Number : 275 Question Id : 59445943398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

et b1 SURRURY F FARIRICH & STefig fageryor & s areft 3nyfes areft ! CZHESIGI
Options :

1. ¥ HDPE

2. % LDPE

3. ¢ UTdif S UTgeriReiie’

4. % PIRIC

Question Number : 276 Question Id : 59445943399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The alkaloid found in Sarracenia flava, the yellow pitcher plant is
Options :

1. # Piperine

2. % Coniine

3. # Nicotine

4. ® Quinine

Question Number : 276 Question Id : 59445943399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT wiaT, gt fOreR a & uren 9T are Teharts gl
Options :

1. % fouR=

2. & DI

3. % FoIcH

4. % P

Question Number : 277 Question Id : 59445943400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A preliminary confirmatory test that can be done for identification of flavonoids is
Options :

1. # Ferric chloride test

2. % Sodium hydroxide test

3. # Silver mirror test

4. % Conc. Sulphuric acid test

Question Number : 277 Question Id : 59445943400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TR g gdiermr S wdHisgy o Uga & o forar o 9 g, a8 2l
Options :

1. % TR FIRTS TRI&U

2. ¥ AITSTH TR ITSS TRIEUl

3. % ReR R ¢




4, % ig TYdH 3 URI&0]

Question Number : 278 Question Id : 59445943401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ninhydrin is used as detecting agent for amino acid in chromatography because

Options :

1. # It is unreactive towards amino acids

2. ® Ttis visible in UV light only

3. ¥ It form a purple color complex with amino acids which makes it easy to distinguish

4. ¥ Tt is eluted at same time as that of amino acids and detected at same time

Question Number : 278 Question Id : 59445943401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

guicra o sffiHY et & fer FAeTEie &1 Iudi Sifte wole & = u o foran Siran § wifes
Options :

1. % gg 3 3t & Ul sifsparefiia g

2. % Yg pad UV UH  fdwrs Sarg

3.« g HY 3 P I ST T BT 07 7T © T 3R =T ST 81 Sl 8

4. % g Ue € qHT H ST 3 & U T I (3cge) BT & 3R Ueh & THd T UdT Il offal &

Question Number : 279 Question Id : 59445943402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ionic solids are only soluble in

Options :

1. # Non-polar solvents

2. ¥ Extremely Polar solvents

3. # Mix of non-polar and polar solvents

4. ® Supercritical solvents

Question Number : 279 Question Id : 59445943402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T 31 had O ga=ia gid g |
Options :

1. ® R-ydig faams

2. ¢ 3(d YdIg faarasd

3. % TR-ydN 3R ydig faamaes &1 g

4. % 3ifdepifde faarad

Question Number : 280 Question Id : 59445943403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Conversion between polymorphs can be observed by
Options :

1. # Gravimetric analysis

2. % Tensiometer

3. ¢ Differential scanning calorimeter

4. % NMR

Question Number : 280 Question Id : 59445943403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig=Udrsll & o SR o RIS S qhell 3|
Options :
1. ® YRTHSD [q=awor nfaafcs TmfaRm)
2. % SRR
3. ¢ IR IH T IeTfhf
4. ¥ NMR
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445943404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the drive that results due to the hormones in both males (testosterone hormones) & females (estrogen hormones), in differing quantities of every species.
Options :

1. # Social drive

2. # Hunger Drive

3. # Thirst Drive

4. % Sex drive

Question Number : 281 Question Id : 59445943404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 UR0T (S189) HT ATH FATST S ST (LRSI THA) 3R Afgansil (TeieH gTdH) SFf H, U UoTifd & S{elT-31eRT {1 § 11 & HRUI gl g |
Options :

1. % TG URT (3134)
2. % W IRUT (S129)




3. % IR (3159)
4. « TH-forar OROT (S139)

Question Number : 282 Question Id : 59445943405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of attention we attend easily to the stimuli, without any effort?
Options :

1. % Explicit attention

2. # Implicit attention

3. % Spontaneous attention

4. % Voluntary attention

Question Number : 282 Question Id : 59445943405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobe GepR & &, fTT bt TRy o & ST A SE10H TR &1 o &2
Options :

1. % YeRiiiye e

2. % WY A

3. % Hgol ¥

4. % Wfes® &=

Question Number : 283 Question Id : 59445943406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the external factor of attention with which the speaker modulates his voice suddenly to attract the attention of his audience.
Options :

1. # Movement

2. % Change

3. # Contrast

4. ® Novelty

Question Number : 283 Question Id : 59445943406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

T P I ) HR DI ATH TATSY ForTes H1Y TR U I13f BT & b B & [T SFAD ST SHTaTet 1 i e g
Options :

1. % Tfd

2.« ORaTiA

3. % FERe

4. % 9diHar

Question Number : 284 Question Id : 59445943407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be further divided to idiolect?
Options :

1. % Sub-dialect

2. # Phonetics

3. # Syntax

4. % Schema

Question Number : 284 Question Id : 59445943407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTAER (3Mafssiiaiae) H SR 1 fauTford farar o T g2
Options :

1. ¢ JU-adl

2. % TG

3. % grefa=ary

4. % WA

Question Number : 285 Question Id : 59445943408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a tool which makes the teaching-learning process interactive.
Options :
1. # Dialect
2. # Debate



3. ¥ Questioning
4. % Sub-dialect

Question Number : 285 Question Id : 59445943408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e g ol fRreor-3ifenT ufshar o1 sia:forarere ST 8l
Options :
1. ® 3UYmI
2. % grg-faarg
3. ¥ Jadio
4. % ISl

Question Number : 286 Question Id : 59445943409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which language is essential for literacy learning, and successful use of language is critical for student's well being.
Options :

1. # Standard Language

2. % Oral Language

3. % Home Language

4. ¥ Written Language

Question Number : 286 Question Id : 59445943409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I UTHT TTERAT YR & foTT MTa=aes §, SR UTHT &1 Jhd SUIRT ST ST YdTs & ot Hg@yul |
Options :

1. ® HHD HIHT

2. ¢ ARG U

3. % HIJ HINT

4. % foRgd wreT

Question Number : 287 Question Id : 59445943410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which theory was built upon the three explanatory models -genetic-biological factors, shaping and reinforcement of sex-typed behaviour, and imitation of same-
sex parents or social learning?

Options :

1. ¥ Androcentric theory
2. # Standpoint theory
3. # Intersectional theory

4. % Functionalism

Question Number : 287 Question Id : 59445943410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 Rigid dF e Alsdl IR TR o7 - STaRIG-9fd® HRE, [F-UHR & TGER B 3THR o1 3R Jeg BRI, 3R JAMF-T arel Arar-
O D1 qha a1 Tt Riafm

Options :

1. ¢ TgRifead Rt

2. % WeUls< WY

3. % FCRET AR
4. % GaRHICRY

Question Number : 288 Question Id : 59445943411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of feminism that aims for individuals to use their own abilities and the democratic process to help women and men to become equal in the eyes of
the law and in society.

Options :

1. #® Marxist feminism
2. ¥ Socialist feminism
3. # Radical feminism

4. % Liberal feminism

Question Number : 288 Question Id : 59445943411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
U YHR & ARIAIE BT ATH TSy [ordh] Yo Afaadl &I SU-T &Fdrsil &1 SUANT daT § 3R Adbditd UishdT &1 yaie § i Afgarsi 3R goui
B BT R THS BT FoR T JHH §9 § Heg HRAT g |




Options :

1. % HIhHarg! ARIdIG
2. % gSAIG] ARIAG
3. % 3fId ARIAIG
4.+ IGRAd! ARIaTG

Question Number : 289 Question Id : 59445943412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

feminists view gender inequalities as intrinsic to the capitalist system, which makes vast profits off women's unpaid labour in the home and underpaid
labour in the workforce.

Options :

1. # Radical

2. # Reforming
3. % Socialist
4. ¥ Liberal

Question Number : 289 Question Id : 59445943412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRYATE e SRS B YoiiaTd! SIaRIT 3 3Mided U &1 dRE <Wd &, ol &R H AT & fddf-id 41 iR Hriad d HH dd- ard 91
Y HRY AT HHN B
Options :
1. % 3{Hd
2. % gUYR
3. AT
4, % IqRAT

Question Number : 290 Question Id : 59445943413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I: A diagnostic assessment expands the findings of an assessment with analysis of abilities and potentials with a further dimension: the future
development of the concerned person, as well as the necessary conditions, time frame and limits.



Statement II: Formative assessment provides feedback and information during the instructional process, while learning is taking place, and while learning is
occurring.

Options :

1. % Both statements are false
2. % Only Statement II is true
3. # Only Statement I is true

4. # Both statements are true

Question Number : 290 Question Id : 59445943413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad fawent &1 ufeq iR 3@ Tdal & A&y & Iugad fdded &1 99 Hifor|

HYT [: T G Hpa GHar3N 3R HTT3M & fITAN0T & 1Y T 3R STATH & 1Y HTH T b (BT BT [AdR BT 5 T fdd SAfed &b Hidw
& faora, I1y 8 Ty aws d, 99T T4 3R AT

U 11 GT URIET RAfefe Uichan & SR, SIRATH 81 a9 39dh GRIF IR SIFTH 81 38T 81 a9 GTHRUT 3R TSR UM SR 6|
Options :

1. % M HYT ITT &

2. FAA YT 1 I &

3. % HIAPYT I ©

4. % QAN PYTII G

Question Number : 291 Question Id : 59445943414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A learner's own perceptions or explanations for success or failure that determines the amount of effort will expend on that activity in the future. What is this
called?

Options :

1. # Self - regulation
2. % Self - assessment
3. % Self - efficacy

4. ¥ Self-attribution

Question Number : 291 Question Id : 59445943414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
mv—cgnm&W%Wﬁr&nﬂ’fﬁaﬁmmm@meﬁwﬁwﬁwnﬁﬁﬁrwﬁmaﬁaﬁmﬁwﬁﬁmm%ls@raznam
SITdT 82

Options :

1. #% Wfgaa

2. % 3T b

3. % JTH-YUTTDTIRAT

4. ¢ TH-JURIY

Question Number : 292 Question Id : 59445943415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following method the same tool or instrument is administered to the same sample on two different occasions?
Options :

1. ¥ Test-Retest method

2. # Equivalent-forms method

3. # Split-Half method

4. ¥ Kuder-Richardson Method

Question Number : 292 Question Id : 59445943415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafared & 9 fou faft & ue & wred a1 33 &1 T 81 A9 T &1 S1a-S1a SawR! IR URIRId fohar Sir 52
Options :

1. ¢ TRIGT-GR:ORie fafey

2. % gHJT-FY fafY

3. % faveand fafy

4. % pR-RaS fafdy

Question Number : 293 Question Id : 59445943416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I: Three important aspects of Universalisation of Elementary Education are access, enrolment and retention of all children in 6-14 years of age.
Statement II: Sarva Shiksha Abhiyan provides up to Rs.1200/- per child for integration of disabled children, as per specific proposals, per year.



Options :

1. ¥* Both statements are false
2. ¥ Both statements are true
3. % Only Statement I is true

4. ¥ Only Statement II is true

Question Number : 293 Question Id : 59445943416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad fawet & ufeu iR 3@ T & dd & Iugad fadwed &1 999 Sifor|

FHYTL: 6-14 T8 B A H Gt g URME Rren & qrdvindiazor & &1 Ae@yul Ugd 8 Ugd, Amic iR Hfaero|

HY 11 T 1R1ef ST fafry uxaral & SuR, ufd aef fas it sl & ThihRur & fore Ufd §=T 1200/- Y a0 UG Sl 8|
Options :

1. % GFl YT 3T §

2. ¢ A YT I §

3% HITHYTIIT 8

4. % PAADYTINII G

Question Number : 294 Question Id : 59445943417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The key objective of Sarva Shiksha Abhiyan is UEE. What does UEE stands for?
Options :

1. # Unitary Elementary Education

2. # Universalisation of Easy Education

3. % Universalisation of Elementary Education

4. ® Union of Elementary Education

Question Number : 294 Question Id : 59445943417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fRef S1faT &1 4 I§]9 UEE & | UEE 1 01 YU 31 82

Options :

1. % giredl Telihe! TR



2. % gHAGHATSOIRM TP Foit T[bRH
3. ¢ HTHATEIRM 3t TelHEt T
4. % gAY 31t TAHST Tb=H

Question Number : 295 Question Id : 59445943418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Government launched the Integrated Education for Disabled Children (IEDC) scheme?
Options :

1. % 1978

2. % 1972

3. % 1984

4.4 1974

Question Number : 295 Question Id : 59445943418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ¥ PR A fawai a= & T THipd fRigh Ao L= H1?
Options :

1. % 1978

2. % 1972

3. % 1984

4. 1974

Question Number : 296 Question Id : 59445943419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage an infant appears to be experimenting with uttering articulate sounds but does not produce any recognisable words?
Options :

1. ¥ Babbling

2. #% Mutter

3. % Gabble

4. ¥ Fluency

Question Number : 296 Question Id : 59445943419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical

Correct Marks : 1 Wrong Marks : 0.25

foray Srae o Y] Wy il & IR0 S 1Y TERT T 531 Uiid BidT § Tfcb bl Tga 417 g, e8] ST 82
Options :

1. ¥ dgdgIHl

2. % T

3. % YAYAMT

4. % Ydlg

Question Number : 297 Question Id : 59445943420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What involves change in physical proportions as well as in overall stature and weight?
Options :

1. # Development

2. ¥ Growth

3. # Hereditary

4. % Maturation

Question Number : 297 Question Id : 59445943420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o # ¥ifdles FHIUI & W1Y-ATY § 3 SR HR H gRac i 82
Options :

1. % faopry

2. ¢ g

3. % 3{difRIh

4. % URUS

Question Number : 298 Question Id : 59445943421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's theory of development considers the impact of external factors, parents and society on personality development from childhood to adulthood?
Options :

1. % Burrhus Frederic Skinner



2. # Sigmund Freud
3. # Jean Piaget
4. ¥ Eric Erikson

Question Number : 298 Question Id : 59445943421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore 1 o RIGTd STITaRIT A Tl b Ao [JhTE IR 6] BRI, ANl 3R FHIS & YHIT Bl AT 62
Options :

1. % g5 heR® RHR

2. % s s

3. % Hiaml

4. ¢ TRD TRHIA

Question Number : 299 Question Id : 59445943422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an imitation of the real world experience.
Options :
1. #¥ Facilitation
2. % Role Play
3. ¢ Simulation
4. # Mantle of the Expert

Question Number : 299 Question Id : 59445943422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ardfae g1 & SfHa Bl A5 3|
Options :
1. % BiferesH
2. % A
3. ¢ RgeieH
4. % HTd 3t g THUS



Question Number : 300 Question Id : 59445943423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach to drama is generally preferred by a teacher initiating drama into the classroom for the first time?
Options :

1. ¥ Non-linear approach

2. # Holistic drama

3. # Close ended drama

4. ¥ Linear approach

Question Number : 300 Question Id : 59445943423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & foTT DI AT SRATH AR W RI&® gRI WRICIEl § S HET[E H Uge! IR Aled Hd g7
Options :

1. % q-AER g

2. % gifdfed g

3. % I (S S gl

4. AR TG




